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Monday, February 24, 2013

--- On commencing at 9:36 a.m.

MS. CONBOY:  Good morning, everyone.  Please be seated.  I trust everybody had a relaxing weekend and enjoyed the end of the Olympics. 

     Mr. Cass, I see there are a few things that have been filed on behalf of Enbridge; is that right?  

     MR. CASS:  I am not aware that there is anything new, Madam Chair. 

     MS. CONBOY:  Undertakings?  

     MR. CASS:  I would like to tell you that there was, but I am not aware of anything. 

     MS. CONBOY:  I have a couple of things from you, Mr. 

Shepherd.  I thought there were undertakings filed?  

     MR. SHEPHERD:  These are our items that I am referring to in my cross this morning, Madam Chair. 

     MS. SEBALJ:  Yes, sorry, I believe I misled you.  So the undertakings that were filed electronically were just copies of the ones we got last week.  My apologies. 

     MS. CONBOY:  Oh, okay.  Mr. Shepherd?

     MR. SHEPHERD:  Thank you, Madam Chair. 

     MS. CONBOY:  You have got two pieces of paper in front of us here. 

     MR. SHEPHERD:  Yes.  I had three.  The technical conference undertaking, which already has an exhibit number.  I also have an excerpt from the transcript from the second day of the technical conference, which is pages 30 to 32. 

     MS. CONBOY:  Okay. 

     MR. SHEPHERD:  And I have a revision to K1.3 that is 

specific to Mr. Coyne's work, and I will be asking him about it today. 

     MS. CONBOY:  Okay. 

     MR. SHEPHERD:  That was sent on the weekend to all parties. 

     MS. CONBOY:  Thank you.

Ms. Sebalj, should any of these be given numbers?  

     MS. SIBALJ:  Yes, I believe so.  The K1.3, which has been changed, should be K3.1, and the excerpt from the transcript we can mark K3.2. 

EXHIBIT K3.1:  REVISED UNDERTAKING FROM TECHNICAL CONFERENCE.

EXHIBIT K3.2:  TRANSCRIPT EXCERPT.

     MS. CONBOY:  A point of clarification for me.  The table that you say -- the K3.1 that has been amended for the purposes of cross-examination of Mr. Coyne, does that replace the one before, or there is an amendment to it in order to make a point?

     MR. SHEPHERD:  Yes.  This is a version, if you like, a 

different version that is more consistent with what Mr. Coyne did than what Mr. Culbert has done.  

     MS. CONBOY:  Thank you.  So last week you said you would be about an hour, and I think you had a half an hour, a little bit less than a half an hour.  How long do you think you might be today?

     MR. SHEPHERD:  Madam Chair, my cross of Mr. Coyne on his scope and independence is now somewhat longer than I expected on Friday, but it's only because I moved material from my substantive cross into this part, because it makes more sense and it shortens my overall cross.

So my overall cross now will probably be more like 150 minutes rather than 200 minutes because of this. 

     MS. CONBOY:  Great.  Thank you very much. 

     MR. SHEPHERD:  I thought you might like that. 

     MS. CONBOY:  If there are no preliminary matters other than that, we will get started.  Thank you, please proceed.


CROSS-EXAMINATION BY MR. SHEPHERD:
     MR. SHEPHERD:  Thank you.  Mr. Coyne, I wonder if you could turn to TCU2.7.  I just have to find my copy of it.  I managed to give all of my copies away.  My apologies. 

     MR. COYNE:  Yes, I have it in front of me. 

     MR. SHEPHERD:  Thank you.  So the original question that we asked you at the technical conference actually had a number of sub-questions, and most of them you answered orally at the technical conference, right?  

     MR. COYNE:  I believe that's right.  That's correct. 

     MR. SHEPHERD:  So for example, A, we asked you why -- what information you had to say you were going to support the company's proposal, and you responded at the technical conference that you had no information, but the phrase shouldn't be interpreted as saying you were blindly agreeing to support them.  

     MR. COYNE:  I believe we said we had background information, we had the prior plan, the decision, the settlement agreement, things of that nature, all backward-looking documents, but nothing that suggested what the form of the plan going forward would be.  

     MR. SHEPHERD:  Okay.  So this TCU, the written response, all it is really is to respond to C, which is to provide us with the productivity study outline, right?  

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  Okay.  So tell me what that document is, the productivity study outline.  

     MR. COYNE:  That represented our earliest thoughts regarding what the form of our report would be, based on the RFP, based on our proposal, and based on preliminary discussions with Enbridge as we kicked off our work together. 

     MR. SHEPHERD:  You actually provided this to them at the kick-off meeting, right?  

     MR. COYNE:  It was around that time -– no, it wasn't at the kick-off meeting.  I believe it would have been after, but I could verify that.  

     MR. SHEPHERD:  But it is before you did your study?  

     MR. COYNE:  Correct. 

     MR. SHEPHERD:  Okay.  And so I wonder if you could turn -- most of it is pretty straightforward, and indeed it looks quite similar to your report, surprisingly, which means you have done this before, right?  

     But I want you to turn to the last page of this, which is "Recommendations and Findings."  Now this is an outline of what you think your report is going to say, right?  

     MR. COYNE:  What would be contained in our report, right. 

     MR. SHEPHERD:  Yes.  So the "Recommendations and Findings" has four components.

One is the base productivity factor.  So that would be your opinion on the appropriate X or the appropriate I-X, right?  In this case it was going to be X, but then you -- eventually it became I-X? 

     MR. COYNE:  That's correct –- well, the productivity factor is the X portion of it.  

     MR. SHEPHERD:  Yes. 

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  Then the second is the appropriateness of a stretch factor.  You were going to give an opinion, which you ultimately did, on whether in Enbridge's case it was appropriate to have a stretch factor, right?  

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  The third is -- and I am going to read it, because I was surprised at the wording:

"Concentric's validation of Enbridge's analysis of their productivity during the currently effective IR." 

     So Enbridge did their own productivity analysis and what you were agreeing to do is validate it, is that right?  

     MR. COYNE:  Well, they did do their own analysis and they weren't -- my recollection of that discussion was that they weren't certain that their analysis would pass muster before the Board.  

So what they wanted us to do was provide an independent analysis.  Given that we were going to be measuring productivity for an industry group, they asked us if we would measure their productivity using the same measures, and to see how it compared to the work that they had done.  

     MR. SHEPHERD:  So when you say validate, you don't mean support?  

     MR. COYNE:  No.  It means to look at it, examine it and determine whether or not it presented a proper picture of what the company's productivity was during that period of time. 

     Our analysis at the end of the day was quite different than Enbridge's.  They used a -- based on the analysis that had been done for them prior to the -- or consistent with the 2007 plan, the company had remnants of that model and it tried to populate that model using its own data, in order to come up with what they thought would be a picture of their productivity profile over that period.  

     MR. SHEPHERD:  And you -- does your report have their 

analysis in it, and your commentary on it?  

     MR. COYNE:  No.  We long moved past that, and -- as the company wished us to do.  They wanted to ensure that ours was an independent analysis, and we asked them for data, and quite a bit of data, from their company as well as the other companies we were collecting data from, but -- 

     MR. SHEPHERD:  So at the beginning, you said:  We'll validate your analysis.  But then that changed to:  We will do our own analysis, and your analysis is irrelevant?  

     MR. COYNE:  Essentially so. 

     MR. SHEPHERD:  Okay.  Do you know, in fact, whether their analysis is anywhere in the evidence?  

     MR. COYNE:  I don't believe it is.  And -- 

     MR. SHEPHERD:  What was wrong with their analysis?

     MR. COYNE:  I wouldn't say there is anything wrong with it per se.  But it was preliminary; it didn't have all of the data we had asked for.  It was -- it wouldn't have reflected the model that we were using to deal with capital, which is quite complex.  

     It was my -- my reading of it was it was the company's early attempt on its own to measure how they might be viewed from a productivity standpoint, looking backward. 

     MR. SHEPHERD:  Was your conclusion that they would be more productive or less productive than their analysis?  

     MR. COYNE:  I don't recall that they were comparable on that basis, because the way we were measuring it, using a TFP and PFP analysis, really went beyond what they had done. 

     MR. SHEPHERD:  So they didn’t have a productivity factor?

     MR. COYNE:  No, I don't believe they got anything that 

looked like an X.  

     MR. SHEPHERD:  How could you agree to validate their 

productivity analysis if they never did all of it and they never came to a productivity factor?  I don't understand.  

     MR. COYNE:  It was an agreement that we would look at what they had done.  At this point in time, we didn't have what they had done. 

     MR. SHEPHERD:  I see.  I see. 

     And so obviously -- I can't ask this of Mr. Coyne, I suppose, but I will ask the company.  Will they undertake to provide that analysis?

MR. CASS:  Madam Chair, I am told that the people with me aren't even sure what exists at this point in time.  This was some time ago that this occurred, but certainly an effort can be made to see what there is and produce it if the Board thinks it's helpful. 

     MS. CONBOY:  Thank you very much.  Would you give us a number, please?

     MS. SEBALJ:  It is J3.1. 


MS. CONBOY:  Thank you.  

UNDERTAKING NO. J3.1:  TO PROVIDE EGDI'S PRODUCTIVITY ANALYSIS, IF AVAILABLE.
     MR. SHEPHERD:  Thank you, Madam Chair.


And then the last thing you said you would do is -- and again, I will read it:

"Concentric's validation of Enbridge's recommended next-generation IR plan."

Now, again, I take it that you are not agreeing to -- you weren't agreeing here to say their plan was okay, right?  

     MR. COYNE:  We had no idea what the plan was. 

     MR. SHEPHERD:  It hadn't been developed at that point, right?

     MR. COYNE:  Correct. 

     MR. SHEPHERD:  And you were, in fact, assuming that it was going to be an I-X plan at that point, right?  

     MR. COYNE:  I was, yes. 

     MR. SHEPHERD:  And so -- and you were going to develop an I-X?

     MR. COYNE:  Right. 

     MR. SHEPHERD:  And so presumably you were saying if they adopted your I-X, you would stand behind it? 

     MR. COYNE:  That our analysis would be consistent with it, yes. 

     MR. SHEPHERD:  Okay.  But you in fact ended up proposing an I-X structure for what was a three-year plan, right?  

     MR. COYNE:  We didn't propose a three-year plan.  We simply developed an I-X that could have been used for a three-year plan, or a five-year plan, for that matter. 

     MR. SHEPHERD:  Well, but they stipulated three years for you and you calculated an I-X on a three-year basis, right?  

     MR. COYNE:  No, I wouldn't put it that way.  Let me speak to both X and Y, just to break it down.

The X factor that we developed was based on a trend for the industry dating over the 2000 through 2011 period, and that is a long enough period so that it could be construed as the long-term productivity trend for the industry.  And then we selected a subset of that, which were the fastest growing and largest utilities. 

     So that would have been suitable for a three-year plan.  It could have been suitable for a five-year plan.  It wasn't limited in that way. 

     MR. SHEPHERD:  It is a trend line? 

     MR. COYNE:  Exactly.  And the I factor that we developed was also based on trend relationships.  So there is nothing limiting about them, and we did not suggest there would be -- that we did not suggest either three or five. 

     MR. SHEPHERD:  What Enbridge said:  We're going to do three years, and they asked you to calculate -- or somebody calculated that -- whether your I-X would give them enough money, and the conclusion was -- tell me whether this is right -- that your I-X produced $141.5 million less over those three years than they thought they needed, right?  That is from page 8 of 125 in your report.  

     MR. COYNE:  Subject to check, I will accept that, yes. 

     MR. SHEPHERD:  And in fact, if you extended that another two years to five, which is what we're talking about now, using the same trend line, and their same budget, that would have been about a $350 million shortfall, right?  Will you accept that, subject to check?

     MR. COYNE:  That sounds about right, yes. 

     MR. SHEPHERD:  Okay.  And so Enbridge rejected your I-X because it didn't give them enough money, right?  

     MR. COYNE:  I think in essence, yes, it wouldn't meet what they had projected as being their revenue requirement over that period, their costs.  

     MR. SHEPHERD:  And so I am going to ask you to look now at K3.1, which was sent on the weekend.  Have you had a chance to see this?  

     MR. COYNE:  No.  I am seeing it now for the first time.

MR. SHEPHERD:  Your client didn't provide it to you?  

     MR. COYNE:  I just got it five minutes ago.  

     MR. SHEPHERD:  Oh.  Okay.  You saw the model when we were asking Mr. Culbert about it the other day, right?  

     MR. COYNE:  I recognized this spreadsheet format from that discussion.  That's as far as I would go.  

     MR. SHEPHERD:  Okay.  So what we did is we simply made it plain vanilla.  That is, we took out the capital adder and we solved for the I-X that would give them the money they want in their application, and it is 4.55 percent.  Will you accept that, subject to check?  

     MR. COYNE:  That number does not sound familiar to me, so I would honestly suggest that the preferred path for me with this would be -- because I am seeing it for the first time, would be to spend a little bit of time with it, understand it, and then come back and answer those questions, if that is acceptable to the Board.

But I would -- that number sounds too high to me, in terms of the projected escalation.  

     MR. SHEPHERD:  Okay.  So I wonder if we can get an undertaking for you to do that. 

     MR. COYNE:  I would be pleased to, yes. 

     MS. SEBALJ:  J3.2. 

UNDERTAKING NO. J3.2:  TO REVIEW EXHIBIT K3.1 AND CONFIRM THAT I-X WOULD HAVE TO BE 4.55 PERCENT TO ACCORD WITH EGDI'S APPLICATION.

     MS. CONBOY:  Is the question clear in terms of what you are asking of Mr. Coyne?  

     MR. SHEPHERD:  I am asking Mr. Coyne to confirm that removing the capital tracker and using a simple I-X, the I-X would have to be 4.55 percent to get to Enbridge's budget for the period. 

     MS. CONBOY:  Thank you. 

     MR. COYNE:  And is that -- just so I fully understand, so what you have done is you've taken out any recovery for GTA and Ottawa, just simply I-X versus the budget --

     MR. SHEPHERD:  Yes, because you in fact looked at them separately, right?  You did I-X first, and then you said:  Okay.  Now, what if we add in extra money for GTA and Ottawa and WAMS? 

     MR. COYNE:  Right. 

     MR. SHEPHERD:  And what if we have a full capital tracker?  Because you were trying to figure out how much is going to be the shortfall depending on which approach you take to the plan, right?  

     MR. COYNE:  Exactly. 

     MR. SHEPHERD:  Okay.  Thank you. 

     MR. COYNE:  But I still want to make sure I understand your question, Mr. Shepherd. 

     MR. SHEPHERD:  Sure.  

     MR. COYNE:  And that is, are you asking me that if it was strictly I-X with no other capital recovery, if that escalation factor would be 4.5 percent?  

     MR. SHEPHERD:  Yes.  If the net I-X would have to be 4.55.  

     MR. COYNE:  Okay.  

     MR. SHEPHERD:  It is just math.  That is why I am -- it is fair for you to have a chance to have a look at the spreadsheet but, you know, the spreadsheet has already been validated by the company.  All we did is solve for it.  

     MR. COYNE:  Okay.  I would like to spend some time with it.  Thank you.  

     MR. SHEPHERD:  Thank you.  

     So here's the thing I -- the conclusion I've reached, if you like.  You were retained to provide an appropriate I-X and to support their plan based on that, and you developed a high I-X.  When we talk about your substantive work later on, we're going to have some problems with your I-X.  But it still wasn't enough.  They rejected it and they went in a different direction.

So I don't understand why at that point you didn't just pack your bags and go home.  You gave your expert advice; they didn't use it.  

     MR. COYNE:  Well, let me back up to a comment you made about a high I-X.  I would take issue with that.  But if we're going to discuss it later, then we can move it to then.  But I would take issue with that characterization.


But that wasn't the -- our proposal was to provide them the analysis, but it was broader than that, if you read our proposal.  And as we have described, our role evolved once the company saw the I-X analysis that we produced versus their expected costs over that five-year period.


But they relied on us as a resource to assist them in understanding how other plans have been formed in other jurisdictions.  We provided input to them in terms of how capital was treated in other plans. 

     So our role evolved to be one of:  Assist us in understanding how we can make I-X work, and other forms of other programs that would assist us in developing that next-generation plan. 

     MR. SHEPHERD:  So tell me whether this is right.  The I-X that you provided to them wasn't enough.  You then -- and I am reading from your report, where it says on page 14 of 125:

"EGD and Concentric conducted a series of studies and analyses to test different structures for the company's second generation IR plan that would meet the following criteria..."


Et cetera, et cetera. 

     And of which the key one, I am sure, is they would have enough money, right?  

     MR. COYNE:  Where are you on page 14, please?  

     MR. SHEPHERD:  Page 14 of 125, second paragraph:

"EGD and Concentric conducted a series of studies and analyses..."

     MR. COYNE:  And I see five factors listed there.  

     MR. SHEPHERD:  Yes.  But the reason why you had to do that is because your I-X wasn't enough money, right?  So they're $350 million short.  They said to you:  Help us figure out a different plan that will get us that $350 million.  Right?  

     MR. COYNE:  I list five factors there, not just one.

     MR. SHEPHERD:  They would have taken your I-X if it hadn't been for the fact that it was $350 million short, right?  

     MR. COYNE:  I don't know that, but I do know that there were other factors that needed to underscore that plan, and they're listed there. 

     MR. SHEPHERD:  Okay.  I am going to approach this a 

different way, then.  And this is the reason I sort of wanted to raise this, is that over the course of a three-year engagement you did a series of reports and presentations to them on about a weekly or monthly basis; is that right?  You were meeting with them all the time?  You had a working group? 

     MR. COYNE:  We had a working group, yes. 

     MR. SHEPHERD:  And you have been asked to provide your various drafts of those documents, but you have refused, right?

     MR. COYNE:  I believe that is the position of counsel.  

     MR. SHEPHERD:  And you also say that you received feedback on your results from Enbridge, right?  They gave you feedback -- as you gave them information and you gave them reports and presentations, they gave you feedback.

But your evidence from the technical conference is that not one thing, not one word of that feedback for the whole three years was in writing; isn't that correct?  

     MR. COYNE:  To the best of my recollection, we had two or three drafts, and in each case we discussed those drafts verbally, either in person or by phone.  But over the course of three years, you know, was there something in writing?  I quite honestly don't recall. But that wasn't the primary way we communicated with the working group. 

     MR. SHEPHERD:  You were asked to provide written feedback and you said there wasn't any; isn't that right?

     MR. COYNE:  My recollection is there wasn't any on these drafts.  So our -- let me describe the process for you.  Perhaps it will help you to understand. 

     We initially estimated our model with data through 2009.  We updated through 2010, and then through 2011. 

     Each time we did so, we needed to update our analysis to add the additional years, explain the differences it made.  So this was really a process of information-sharing with their working team.  It wasn't a matter of:  We have a draft and let's just edit this thing together.  It was an analytical process that unfolded over three years, and we were sharing the information of those results as we had new data available to us.  As we had the RRFE decision, as we had the Alberta decision, we would discuss the implications of those for the plan, along with our quantitative 

analysis. 

     So it was very much a "roll up your sleeves" kind of effort over the course of that three-year period.  It wasn't one of:  I will give you a memo; please give me written feedback on it.  It was a working group in the true sense. 

     MR. SHEPHERD:  You did provide them a bunch of written 

material, didn't you?  

     MR. COYNE:  We provided -- as I mentioned in the technical conference, we had spreadsheets, we had primarily spreadsheets where we were presenting our analysis.  We had some -- we had some background PowerPoint materials.

The management presentation that we provided on the record is representative of that type of material that we shared with the company. 

     MR. SHEPHERD:  Well, that is actually quite different, because it was at the beginning, right?  So you hadn't done any work at that point? 

     MR. COYNE:  It was early on.  It was in February.  We had been working for a couple of months. 

     MR. SHEPHERD:  Here's what I'm driving at here, Mr. Coyne.  This Board -- tell me if this is right -- this Board does not have any documentary evidence to show how your opinions evolved over that three years as a result of how your client reacted to them, right?  There is nothing on the record that tells us how that happened?  

     MR. COYNE:  I think you are relying on the testimony of the company and my testimony in that regard.  

     MR. SHEPHERD:  Okay? 

     MR. COYNE:  And that testimony is true to how it occurred.  

     MR. SHEPHERD:  I am telling you that this is very strange to me.  I can't imagine having an expert work for three years, expand the budget six times, and yet there is no documentation along the way on the changing scope, the increasing cost or the reaction of the client to your work.

Isn't that pretty unusual in your business?  

     MR. COYNE:  There was a lot in that question.  Let's take them one at a time, shall we?  

     MR. SHEPHERD:  Sorry.  

     MR. COYNE:  Would you like to discuss scope, budget or content of work on the company’s behalf?

     MR. SHEPHERD:  Content is what I am after right now. 

     MR. COYNE:  Okay, content.  Ours was one -- they were 

relying on us as the analytical engine to crunch these numbers on 28 companies, 42 operating subsidiaries, and to bring forward that analysis as we generated it for them. 

     It didn't lend itself to a formal written feedback.  It really was a working group kind of a structure.  

     We had, on my team, co-authors of my report, Jim Simpson and Melissa Bartos.  We would get on the phone periodically with Enbridge.  We would explain to them where we were with the data gathering.  We explained to them the data issues we had early on, and when we had data issues, how we were resolving them to make sure they understood. 

     Then as we generated our X factor analysis, our productivity analysis, we explained where we were with that.  We shared with them preliminary spreadsheets that showed that data and that analysis.

It is very complex stuff to present.  It didn't lend itself to a clean memo that says:   Here's X, here is I, what do you think?  It had to be explained verbally, I think as exemplified by the discussion here.  This isn't stuff that is easily packaged and sent off for feedback. 

     MR. SHEPHERD:  Did you ever have a discussion with anybody at Enbridge where either you or they said that any written communications would have to be produced in a hearing, so communications should not be in writing?  Ever have that conversation?  

     MR. COYNE:  No, I did not.  

     MR. SHEPHERD:  Thank you.  

     My final few questions on your independence in scope relate to the discussion we had on Friday about supporting different models. 

     You developed an I-X for Enbridge, but they didn't use it, right?  

     MR. COYNE:  They did use it.  But let's define what you mean by "use it." 

     MR. SHEPHERD:  Sorry.  

     MR. COYNE:  Let's define -- 

     MR. SHEPHERD:  Maybe it is something -- 

     MR. COYNE:  Let me define what I mean by "use it."  Used it to analyze their five-year plan.  Their program is 

not based on that, is not based on that I-X structure.  It is based on -- it's based on a five-year customized IR plan.  But it was used to analyze the program that they were forming. 

     So I won't say didn't use it.  Maybe not use it in a way that you would prefer. 

     MR. SHEPHERD:  You haven't changed your view on that I-X, have you?  

     MR. COYNE:  In terms of the magnitude of that I -- the 

magnitude of the I or the X?

MR. SHEPHERD:  Yes. 

     MR. COYNE:  No.  Our analysis is complete, as it is on this record. 

     MR. SHEPHERD:  So on Friday you said -- and I wonder if you could turn up page 181 of the transcript from Friday?

     MR. CASS:  I'm sorry, Madam Chair.  Mr. Shepherd, through you -- we are having trouble finding that page.  Could you possibly give us that reference again? 

     MR. SHEPHERD:  181 of the transcript from Friday. 

     MR. CASS:  We have hard copies that go to page 179.  

     MS. CONBOY:  Yes, up here as well. 

     MR. COYNE:  My handout says "page 30" on the first page. 

     MR. SHEPHERD:  That is not from Friday.  Let me just find it and I will -- the problem is the document is in Word.  As a result, every time you bring it up --

     MS. CONBOY:  Why don't you give us the first three words and then Bonnie can do a find and it will -- it should come up on the screen. 

     MR. SHEPHERD:  Yes, I think it will be page 176.  I just reformatted it, and I think it’s --

     MS. CONBOY:  And the first three words of the paragraph?

     MR. SHEPHERD:  On line 12 of that, it's my -- I say:

Well, no, sorry.  My understanding is that you did an I-X..."

     MS. CONBOY:  Thank you.  

     MR. SHEPHERD:  It is halfway through that page, 176.   

     MS. CONBOY:  Can you look at the screen and see if we have the right --

     MR. SHEPHERD:  That's right.  So, Mr. Coyne, we had a 

discussion there about your I-X, right?  And we talked about -- do you have that in front of you?  

     MR. COYNE:  I do, yes. 

     MR. SHEPHERD:  What page is it in yours?  

     MR. COYNE:  176 is what I am looking at. 

     MR. SHEPHERD:  Okay.  So then -- but yours only goes to 179, right?  

     MR. COYNE:  Yes.  

     MR. SHEPHERD:  Well, I am going to have to find this now.  Sorry.

The phrase I am looking for is that you didn't understand how we could connect the dots to -- between your I-X work and their plan.  Do you recall saying that?  

     MR. COYNE:  No, I do not.  I would like to see that.  

     MR. SHEPHERD:  Let me just see if I can find that.  I 

apologize, Madam Chair. 

     MR. COYNE:  I see beginning on line 12, page 176, your 

questioning me as to my understanding regarding an I-X.  Could that be what you mean?  

     MR. SHEPHERD:  No.  I am looking for that particular --

     MR. COYNE:  I describe our role as "broader than just an I-X."

     MR. SHEPHERD:  Just a second.  I'll get it.  

     Oh, joy -- oh, you know what?  Well, now I am embarrassed.  This is not from Friday.  It is from the technical conference, I'm sure.  I thought it was from Friday.  All right.  Look, I am not going to ask questions on this because I screwed it up.

You say in your report:

"... Concentric believes that EGD's overall proposed customized IR proposal is reasonable."


That is on page 9 of your report -- I am pretty sure about this one -- page 9 of 125 in your report.  

     MR. COYNE:  And which paragraph were you in, please?  

     MR. SHEPHERD:  Last paragraph:

"Based on our analysis, research and industry experience, Concentric believes that EGD's overall proposed customized IR proposal is reasonable."

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  So you were hired to do I-X, but you're offering this Board an opinion on their cost of service proposal, right?  

     MR. COYNE:  They have not characterized it as a cost of service proposal.  It is a five-year revenue cap, and I would characterize it the same way.

And I was hired to do more than just an I and an X, so I would disagree with both parts of your statement.  And we did produce an I-X, but that wasn't the limit of our scope.  

     MR. SHEPHERD:  You are providing an opinion that their customized IR approach is reasonable, right?  

     MR. COYNE:  Yes.  

     MR. SHEPHERD:  That's an opinion on their numbers, right?  It is not just an opinion on the structure; you're saying that set of numbers is right, is reasonable, right?  

     MR. COYNE:  Well, we have chosen our words, I think, more carefully than to say that that set of numbers is just right.  What we have -- you are quoting us directly, you know.  Based on our analysis, our research, and our industry experience, we believe the overall proposed customized IR proposal is reasonable.  And the reason we believe it is reasonable is we've examined the company's O&M and capital individually and collectively, versus the analysis that we have done based on an industry sample of like-situated companies. 

     And it was our expectation at the outset that this would be an I-X program based on those parameters.  When we saw that I-X didn't fit, we wanted to understand why it didn't fit, and we quickly came to the conclusion that Enbridge's capital spending plan was not like the other utilities in our sample. 

     So we came to understand why an I-X framework would not work for this company in these circumstances, based on our analysis.

Again, as you described it, it was a three-year effort to get to this point.  That was not an opinion given lightly.  

     MR. SHEPHERD:  I understand, but I am still back to my same question.  Is it the structure you're saying is okay or the numbers you're saying are okay?  

     MR. COYNE:  We're saying the structure is okay.  We think it has good value and the right balance of risk for ratepayers and customers.  In that sense, yes, the structure is okay. 

     When you say the numbers are okay, we have not independently -- we have not looked at the bottom-up O&M and capital numbers in Enbridge's five-year revenue cap proposal.  What we have done is we've taken a top-down view of those numbers based on our I and X analysis. 

     That is what brings us our independence.  We are not part of the Enbridge team.  We were not charged with examining independently the bottom-up approach they took to their O&M and capital budget.  That was not part of our scope. 

     MR. SHEPHERD:  And in fact, your report says at page 12 of 125 -- and Concentric -- this is right in the second line -- Concentric was asked to evaluate the company's capital spending plans, but you didn't end up doing that, did you?

     MR. COYNE:  We did.  

     MR. SHEPHERD:  Oh, you did?  So I -- sorry, I didn't see any expertise in your resume that said you are a capital spending expert.  Tell us about that.  

     MR. COYNE:  Well, let me address the first part of your question and I will get to your second.

The first part, what did we do, we examined their capital spending plans.  First of all, we looked at what their capital planning process was so we could familiarize ourselves with that.  They shared us -- 

     MR. SHEPHERD:  Sorry, let me just stop you.  So are you providing an opinion on the reasonableness of their capital spending -- their capital planning process?  

     MR. COYNE:  No.  We are not. 

     MR. SHEPHERD:  Go on. 

     MR. COYNE:  And then we examined the big drivers associated with that capital plan.  We came to understand what WAMS meant, what GTA meant, what Ottawa meant, the role they played with the company on a going-forward basis.  We understood things -- everything from amp fittings to other drivers -- at, I would say, a fairly basic level. 

     My senior co-author in this report, Jim Simpson, comes from a gas utility background.  He spent quite a bit of time with the Enbridge capital team understanding the capital plans and what those cost drivers were, and also working to identify -- as our role evolved over time, we saw that an I-X was not going to fit. 

     We also looked at alternative capital recovery mechanisms --


MR. SHEPHERD:  Sorry, let me stop you.  I just want to take it piece by piece.  All right?

     So you looked at the capital plans and you understood them, right?

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  You are not expressing an opinion on whether they're reasonable, are you?  

     MR. COYNE:  No. 

     MR. SHEPHERD:  And although you've referred to Mr. Simpson, he is not here and he is not expressing any opinion on whether they're reasonable, is he?

     MR. COYNE:  He's not, and he would not. 

     MR. SHEPHERD:  Okay.  Now, please go on. 

     By the way, so "evaluate" appears to me not to be:  Is it reasonable or not?  "Evaluate" is understand?  

     MR. COYNE:  Understand and look at it in the context of an IR plan proposal. 

     MR. SHEPHERD:  Okay.  Go on.  

     MR. COYNE:  That's it.  

     MR. SHEPHERD:  All right.  See, I guess -- you can't have it both ways.  If you didn't do the bottom-up analysis, then you can't tell this Board that $6 billion the company wants is right or is reasonable, right?  

     MR. COYNE:  I have not indicated in any way that that number is right.  What I have suggested is that this approach is a reasonable one. 

     MR. SHEPHERD:  Okay.  But --

     MR. COYNE:  I have not -- as I've just said, I have not independently evaluated the build-up that gets to those numbers for the company.  We have done a top-down analysis based on our I-X approach.  

     MR. SHEPHERD:  Well -- 

     MR. COYNE:  It is as simple as that.


MR. SHEPHERD:  I understand.  And so on the one hand you say:  We didn't do a bottom-up approach.  We can't tell you anything about it, except that structurally it is fine.

This Board knows how to do cost of service.  It is not that difficult.


The top-down approach that you say you did, if I understand correctly, your conclusion was that they should get $350 million less on your top-down approach.  The only opinion you can give is that they're asking for too much money; isn't that right?

     MR. COYNE:  Well, let me go back to the sidebar you mentioned regarding the Board knowing how to do cost of service.  This is not a cost of service proposal.  It is a five-year revenue cap proposal.  So I have to take issue with that. 

     To your second question, could I ask you to paraphrase it?  

     MR. SHEPHERD:  Sure.  You did a top-down analysis.  The top-down analysis showed that over a five-year period they should get $350 million less than they're asking for. 

     So the only opinion you can give on the top-down basis is that they're asking for too much money; isn't that right?  

     MR. COYNE:  No.  

     MR. SHEPHERD:  Okay.  Well, tell us how that is wrong.

     MR. COYNE:  The opinion that we can give is -- well, really, at the risk of repeating myself, is that the I and X factor analysis that we did was used to measure the company's spending plans on a going-forward basis vis-a-vis an efficient utility.  That is what the I and X -- an efficient utility using reasonable cost inputs for an Ontario gas distributor.  That is what informed the opinion that we could form, and we broke it down into two pieces.

We examined O&M, because you stop and think about it:  What does an I-X program give you?  You are trying to come up with an independent view of the reasonableness of that spending path.  That is exactly what I-X does.  So we used it that way.


And what we determined was that from a top-down look, that the I and X would be sufficient to cover -- to recover the company's projected O&M expenditures without surprises on a going-forward basis, and over a five-year basis.  

     We conducted the same analysis looking at the revenue requirements -- the company's projected revenue requirements, not ours -- over a five-year basis, and determined that that I and that X would not be sufficient to recover them.  And that gap -- and the overall gap was approximately the number that you described.


So that is the basis of our opinion.  And the overall opinion is that this approach puts the company at risk over a five-year basis from meeting those budgets, and we think it is a reasonable balance for both customers and stakeholders.  And that goes to our regulatory expertise surrounding the development of IR plans. 

     So our testimony is not as narrow as just an I or an X in that regard.  

     MR. SHEPHERD:  I am trying to narrow down the nature of your expert opinion, and expert opinion being based on actual work you did.  And it is not that their budgets are okay, because you just admitted you didn't look at that.  And it is not that -- so there's two ways that you can determine that something is reasonable, a bottom-up approach or a top-down approach.

Bottom-up, you didn't do.  And top-down, you concluded that what they're asking for is not reasonable; isn't that right?  

     MR. COYNE:  Incorrect.  

     MR. SHEPHERD:  Well, sorry.  You made no --

     MR. COYNE:  We made no such conclusion that what they were asking for was unreasonable.  I don't know how you are getting to that conclusion.

MR. SHEPHERD:  Well, if the only test of reasonableness is top-down, you did it and you got a number that was $350 million lower than theirs, right?  

     MR. COYNE:  Based on I-X for a steady state capital spending program for an efficient utility.  They are not in a steady state capital spending program.  There is a reason why that I-X do not fit.  

     If this company had steady state capital spending plans, I would -- I think that I-X would be probably a much better fit, but --

     MR. SHEPHERD:  So when you worked on your proxy group, you excluded everybody that -- you only included companies that had steady state I-X, right -- steady state capital spending plans, rather, right?  

     MR. COYNE:  We evaluated the -- we evaluated, on a historic basis, what the capital spending was for these companies.  But we did not segment them on that basis, no. 

     MR. SHEPHERD:  That was not one of your screens, was it?  

     MR. COYNE:  No, but we can't -- you would need a five-

year forward-looking spending plan, and we don't have that for these utilities.  How do we know they're steady state unless we know what the forward spending plans are?

     MR. SHEPHERD:  You're using empirical data to calculate the TFP; that is always backward-looking data. And you could have screened out companies that had expansions of the capital spending plans, right?  But you 

didn't?

     MR. COYNE:  No, we factored in their capital spending as a measure of TFP.  That's one of the measures, that is one of the inputs, is the degree of capital they're spending versus the output.  You don't want to exclude them on that basis. 

     MR. SHEPHERD:  Madam Chair, those are my questions on the scope and independence of Mr. Coyne and his firm.  Obviously, intervenors or Board Staff or Mr. Cass may want to ask questions before I make submissions.  I am prepared to make brief submissions once that is done.  

     MS. CONBOY:  Thank you very much.  We will actually afford time to Mr. Cass, if he has any re-examination questions. 

     However, in the Procedural Order we did make it clear that if anybody had any concerns or objections about any of the three expert witnesses that were going to go on the stand, that they were to advise Board Staff, and we only heard from you, Mr. Shepherd.

So at this time we will hear from Mr. Cass, but we will not be inviting any other questions from parties.  

     MR. CASS:  Thank you, Madam Chair.  I have no re-examination questions on this subject.  Thank you.  

     MS. CONBOY:  Thank you.  

     [Board Panel confers]  

     MS. CONBOY:  Thank you.  Mr. Shepherd, if you are prepared with your -- ready with your submissions, we will hear them now.


SUBMISSIONS BY MR. SHEPHERD:
MR. SHEPHERD:  I am, Madam Chair. 

     Madam Chair, I have taken Mr. Coyne to a number of places where he has made various statements, either in reports or in interrogatory responses, or in other documents, or in the technical conference or here, including one where I managed to screw it up.  And I am not going to take you through those individually. 

     It seems to me that qualifying an expert witness has 

essentially two components; I am sort of oversimplifying to make it faster.

First, the expert must have the expertise to provide an opinion on the subject matter, and that is usually pretty black and white.  Either they're an economist or they're not, or they're whatever the expertise is or they're not.  Sometimes there's issues of how expert they are; some experts are better than others, but that doesn't normally go to qualification.  Either they meet that bar or they don't meet that bar, usually. 

     The second component of being an expert witness in this Board is that you must be independent.  And independence is not so black and white.

In theory, you could ask the question:  Would the expert have reached the same conclusion, no matter who the client was?  That is really the test.  Would the expert have reached the same conclusions no matter who the client was?

     In practice, there is no bright line.  Every expert is 

influenced to some extent by the views of their client.  The client is, after all, paying the bill.  They have been retained for a particular purpose. 

     For some experts, that influence is pretty limited.  They want to get the right answer.  They're concerned about their professional reputation, and so they will be sensitive to the client's concerns, but their opinion is their opinion. 

     At the other extreme, you have experts that will essentially find an argument to support whatever the client wants.  And the purpose of our cross of Mr. Coyne was to demonstrate that he is much more in that camp than the other camp. 

     That is, we think it is reasonable, based on our questions, his answers and the evidence in this proceeding, for the Board to conclude that Mr. Coyne will generally always find a way to support his client's position, regardless of his initial opinion.  And indeed, he described the whole process of working with Enbridge to find an argument that would support the company. 

     Because there is no bright line, I am not sure we're 

prepared to ask the Board categorically to disqualify Mr. Coyne on the basis of lack of independence. 

     And this is why, when we initially raised the issue, we said whether you want us to do these questions in a voir dire or in our main cross, we're indifferent to that. 

     My personal opinion is that Mr. Coyne crosses the line and it would be perfectly reasonable for this Board to reject his evidence completely as lacking in sufficient independence. 

     It would be good for ratepayers if that happened, because in a later proceeding Enbridge is going to ask to clear their Ontario hearing cost variance account and ask us for 2 or $3 million for Mr. Coyne.  And if you disqualified him, we probably don't have to pay the money.  

But it is also a slippery slope, and we don't want a situation in which -- I don't, anyway, want a situation in which the Board has to parse independence in a fine way, because eventually every expert will be challenged as 

being in some way a little bit lacking in independence. 

     So we think it is a perfectly acceptable alternative for the Board to conclude that his -- that Mr. Coyne's level of independence or lack of it should go to the weight the Board gives his views. 

     So our conclusion is, first, based on his evidence we think it is open for the Board to disqualify him. 

     In the event that the Board doesn't do so, it is submitted it is equally open to the Board to conclude that his opinions in this matter should be given little weight.

Those are our submissions.  

     MS. CONBOY:  Thank you.


QUESTIONS BY THE BOARD:  

     MS. CHAPLIN:  Mr. Shepherd, can I just be clear exactly -- could you -- I mean, say you pointed to sort of a number of references, but if I -- sorry.  You said that essentially Mr. Coyne came down on the sort of finding arguments –- did you say finding arguments to support their position?  

     So can you -- do you make a distinction between finding arguments to support their position and Mr. Coyne's words, in terms of doing analysis, reviewing data, discussing what went on in other jurisdictions?  

     MR. SHEPHERD:  Yes, I think I do make a distinction, 

because -- 

     MS. CHAPLIN:  Maybe you could you point me to some specific examples where you -– that you believe support your contention that he worked with Enbridge to find an argument that would support the company.  That's what you said.

     MR. SHEPHERD:  The original retainer was to do an I-X.  He did one.  It wasn't enough money.  That, he has admitted to.

So then the next stage is:  What did he do after that?  Well, he says his role evolved and he and Enbridge jointly did analyses -- his words, jointly did analyses -- 

to see what other structures would be appropriate, given their budget. 

     So to me, that sounds like a problem-solving exercise.  That does not sound like getting an independent expert opinion.  That sounds like asking your expert to find an argument that will support your budget. 

     He hasn't admitted that.  If he admitted that, I wouldn't have to make submissions.  But it seems to me that this is one of those "looks like a duck and quacks like a duck" situations, where you can see the situation, you can see what happened from his opinion at the beginning to his opinion at the end, and it appears that he could not have been an independent expert and still support an I-X at the beginning and a customized IR at the end.  Not a reasonable conclusion to reach, I don't think.  

     MS. CHAPLIN:  But if he had done either one of those 

individually, it would have been okay?  Like, I mean, if he had -– if his retainer had started eighteen months later and the company had said:  This is the amount of money, this is our capital plan, you know, what structure will recover that?  He made no bones about the fact that he's not -- he didn't assess their capital plan for reasonableness.  He just accepted it, and then he derived a structure that will recover it.  So...

     MR. SHEPHERD:  Well, in that case, then his expertise, the expertise he is providing to you, is not:  As an expert, I found the right answer.  His expertise is:  I found a way to structure what the company wants in a technical way.

     MS. CHAPLIN:  Okay. 

     MR. SHEPHERD:  That is a different expertise. 

     MS. CHAPLIN:  Okay.  Thanks. 

     MS. CONBOY:  Thank you.  

     DR. ELSAYED:  Maybe just to follow up, I guess as an expert, what we heard is Mr. Coyne was presented with a number of scenarios and asked to give his opinion.

Are you suggesting that the opinion that he gave was not independent, was biased?  

     MR. SHEPHERD:  No.  I'm saying the original opinion he gave -- I mean, that actually may have been biased too, but I haven't gone there.  The original opinion he gave was they need $350 million less.  And whether that was biased, I don't know, but there is no evidence on the record for that yet. 

     DR. ELSAYED:  But then based on that, the company decided -- or asked him to assess other options.  So my question was related to the options that --

     MR. SHEPHERD:  Well, yes.  And see, the thing is that if they said:  Well, our situation is different than your I-X, then he could have gone back and he could have -- for example, he could have re-screened his group to screen for companies with particular capital needs.  There is a lot of things he could have done.


But what he did instead is he sat down with them and he said:  Okay.  Let's look at all the various structures and see which one will get you the money you want.  He's admitted this.

And so he did.  They found a structure, and he says:  Yes, that's okay.  But he says:  Yes, that's okay despite the fact that it is inconsistent with his original opinion and he didn't do any of the bottom-up work which is the entire basis for the application, bottom-up work.  

     DR. ELSAYED:  Thank you.  

     MS. CONBOY:  Mr. Cass, are you ready with any submissions?  

     MR. CASS:  I think I am, Madam Chair, yes.  

     MS. CONBOY:  Thank you.  Please go ahead. 


REPLY SUBMISSIONS BY MR. CASS:
     MR. CASS:  I can address these submissions fairly 

quickly. 

     First, Madam Chair, Mr. Shepherd has repeatedly made the assertion that Concentric's scope of work was -- I think the words being used are "to find an I-X."  Well, Mr. Coyne has testified about the Concentric proposal, and it is available on the record and can be looked at.  But even the request, the RFP that went to Concentric, is not anywhere near as narrow as Mr. Shepherd is describing. 

     So one of the things that was handed out for the purpose of this examination of Mr. Coyne was a response to CCC Interrogatory No. 1.  So that is Exhibit -- on Issue A1.EGDI.CCC.1, and attached to that was the RFP.  The Board can see at page 2 of the attachment 1 just a summary description of some deliverables. 

     The second of the two deliverables talks about working with members of the IR strategy development team to provide advice regarding various plan elements or IR parameters, and that is said to include the X factor. 

     It goes on in the second sentence of item 2 to describe more things that may be included, but it is not limited to, and these are a review of Enbridge's performance in its first IR term, cost performance benchmarking, advice related to research on regulatory trends in other jurisdictions.  

     So right from the very start, even in the RFP document, it was never just limited to an inquiry into an appropriate I-X.  

     And Mr. Coyne has talked also about the proposal that responded to this.  It goes into even more detail.  But even just the original RFP was not as narrow as has been suggested. 

     I would also note further up on that same page -- it's the first full paragraph, the second sentence.  This again is the RFP to Concentric:

" Recommendations should be based on objective, empirical research/data and consistent with the principles for effective incentive mechanisms and regulatory trends across North America."

     So in my submission, the comments that you have heard in support of a submission about Concentric's role in this case are not supported by the evidentiary record.  

     My second comment is that we have all sat here for, it must be, close to an hour and a half total questioning of Mr. Coyne, including Friday and today, in a very detailed manner about Concentric's role in this case.

     In my submission, it is clear from the answers given to those questions by Mr. Coyne that he responded very honestly, very clearly, very effectively to all questions, and nothing untoward emerged in any of the evidence that came in response to those questions.  Nothing whatsoever untoward was brought out, either in relation to what Mr. Coyne said or in the description of what Concentric has done in this case. 

     In my submission, there is just not a basis for any suggestion that there's some question about Concentric's 

independence or the scope of their work.  

     Now, my third comment is in relation to something Mr. Shepherd said, which was to the effect that Concentric apparently always found a way to support Enbridge.  Well, that did not emerge from the answers. 

     In fact, there were questions about an initial part of work that Enbridge was going to do and Concentric was going to try to validate.  In fact, Concentric could not validate it, and that work that Enbridge itself was doing did not go forward. 

     So it is simply contrary to what Mr. Coyne has testified to for someone to say that Concentric always found a way to support what Enbridge was doing.  That is not the case on the evidence that's been given. 

     Then my final point was in relation to this suggestion that Concentric worked with Enbridge to find arguments.  I sat here and listened to Mr. Coyne's testimony.  I didn't hear that at all.

I heard Mr. Coyne testify about analysis that his firm, Concentric, did through the course of a somewhat lengthy period of time, and the analysis was of -- very much of a nature of analyzing empirical data and providing results of that analysis that assisted Enbridge as Enbridge went forward with its planning for the case. 

     There has been no suggestion here, and Mr. Coyne has denied any suggestion, that Concentric's work had to do with developing the proposal or that the proposal is Concentric's. 

     Mr. Coyne, I believe, was very clear in his evidence that what Concentric did was it provided analysis, review of data, and research of trends and things in other jurisdictions that assisted Enbridge as Enbridge went forward and developed the proposal. 

     In my submission, there is nothing wrong with that.  There was nothing wrong with anything that was described in Mr. Coyne's evidence during the questions that were asked on Friday and today.


Those are my submissions, Madam Chair.  Thank you.  

     MS. CONBOY:  Thank you, Mr. Cass.  

     Mr. Shepherd, would you like to reply?  


REPLY SUBMISSIONS BY MR. SHEPHERD:
     MR. SHEPHERD:  Very briefly.  And I can't resist the fact that one of my colleagues found my "connect the dots" reference.


At the bottom of page 174 on Friday I quoted to Mr. Coyne from his proposal, where he said:

"We will endorse and defend the company's position on its proposed IR plan."

     And he said:

"based on the results of the Concentric study."

And I said:

"So if their plan matches your study, you will endorse it?"


And he said:

"No.  It's based on the results of the Concentric study.  I think that, having heard the evidence in this case, I think it would be quite straightforward to conclude that we developed an I and we developed an X, and Enbridge has a different plan than our I and X.  So I am not sure how one would connect those dots, either in this paragraph or in the evidence as before this Board."

     So that sounds fine to me.  He was hired to do something.  They didn't use it.  Sayonara.

Instead, his opinion is their customized IR is reasonable, in his report.  That is not consistent with the evidence he has given.  In fact, I don't know how anybody can conclude that he is not being an advocate here, and he is not supposed to be an advocate, but clearly he is advocating for the company's plan. 

     Those are our submissions. 

     MS. CONBOY:  Thank you.  We will take a break until 11:00 o'clock.  

     --- Recess taken at 10:36 a.m. 

     --- On resuming at 11:22 a.m. 

     MS. CONBOY:  Thank you.  Please be seated.


RULING:

     Mr. Shepherd would have us believe that Concentric has gone out of its way to work with the company on an advocacy basis. We do not agree. 

     Mr. Coyne is here to testify to his I-X and subsequent 

analyses, all of which is available for parties to -- for the purposes of argument.  

Mr. Coyne was clear that he was not providing any opinion on Enbridge's budgeting process or its 

outcomes. 

     We accept Mr. Coyne's explanation for the use of the 

terminology "validation" and the Board agrees it is a reasonable term of quantitative analysis and not of advocacy. 

     The fact that he analyzed other approaches at the request of his clients does not, in and of itself, suggest a lack of independence.  We will not exclude Mr. Coyne, and will continue with the joint expert panel. 

     However, we are somewhat concerned with the relationship between Concentric and Enbridge.  The relationship between independent expert and client should be an arm's-length one.  In the case of Enbridge and Concentric, the work has extended over a prolonged period and the engagement has evolved significantly, and 

largely informally. 

     The working relationship was close; an internal working group approach was used, and there is limited transparency in terms of documentation regarding the communication back and forth.  

     The result is a less than arm's-length relationship.  We agree with Mr. Shepherd that these concerns may go to weight, and we will consider this further when we are considering the evidence and are rendering our Decision in this case. 

     We will now ask the other experts to come and join Mr. Coyne and be affirmed.

ENBRIDGE GAS DISTRIBUTION INC. - PANEL 1A


Lawrence Kaufmann, Affirmed


Jim Coyne, Affirmed


Julia Frayer, Affirmed

     MS. CONBOY:  Good morning, experts.  We had mentioned on Friday that we would give each of you an opportunity to provide an opening statement for about 10 minutes, and if any of you would like to do that, now is the time. 

Mr. Coyne, we will start with you, and then Ms. Frayer and Dr. Kaufmann.

OPENING STATEMENTS BY WITNESS PANEL:
     MR. COYNE:  Thank you, and good morning formally. 

     Madam Chair, Panel Members, Board Staff and interested 

stakeholders, I would like to use my time, if I could, by briefly summarizing our analysis, our key findings and conclusions in relation to Enbridge's proposed IR plan.  And in doing so I would like to utilize a few charts from our evidence as audio-visual aids. 

     We have spent some time on this, but briefly as to the scope of our work, we were retained back in January 2011 by Enbridge to provide independent research and analysis that would assist the company in developing its next generation IR plan proposal for the Board.  

Our research and quantitative analysis included 

research and other IR plans adopted in North America, and 

methodologies relied upon to establish incentive regulation 

plans, measurement of EGD's performance under the prior IR plan, a benchmarking study of Enbridge, other Canadian gas distributors and US gas distributors, a productivity study of the gas utility industry as well as Enbridge, recommendations for I and X factors, analysis of capital recovery options, and participation in technical stakeholder and hearings processes. 

     At the outset, we felt it was important to base our 

benchmarking and productivity analyses on an industry study group of companies that are representative of EGD's operating circumstances.

     Study group companies were carefully selected based on 

criteria that identified companies similar to EGD, as measured by factors that are likely to affect costs and productivity, while allowing for a sufficient number of companies in the study group to ensure that the analyses would be robust and provide an appropriate perspective for industry comparisons. 

     If I could, I would like to bring up TCU1.4, which was a map that I shared at the technical conference that just showed the geographic dispersion of the companies that we selected.  

     Just to orient you, the geography we selected from in the US are those in the blue states, the northern tier geography, and those that are highlighted in yellow are the subset of those companies that we used for the fastest growing and largest companies in the subgroup. 

     So there were four -- as indicated here, there were four criteria that we used for selecting the study group.

Similar operations.  These are natural gas utilities, either wholly natural gas or if they're affiliated with electric companies, we made sure that we had natural gas data that could be separated from the electric utility data. 

     Similar weather.  They're located in the northern US or in Canada.  The criteria that we used was plus or minus 45 percent of the degree days that Enbridge had, and if you look at the weighted average of these companies that we chose, it is plus or minus 8 percent for the overall blue state study group and plus or minus 7 percent for the seven-companies subgroup. 

     The benchmarking industry study group in total included 28 US natural gas utilities comprised of 48 individual operating subsidiaries -- and when we think of operating subsidiaries, we're thinking of the named utility that might have been part of a roll-up to a parent company -- and six Canadian natural gas utilities with data covering -- in the case of the benchmarking analysis, it was the 2009 and 2010 period.  

     The Canadian companies that we chose for the benchmarking study were ATCO, Fortis BC, Gaz Métro, Manitoba Hydro, SaskEnergy and Union Gas.

     The productivity study group consists of a subset of 25 natural gas utilities -– again, those are the ones that you can see in black in the blue states -- and 42 operating subsidiaries, with data covering the 2000 through 2011 period.  In all cases, that was the most recent data that we had at the time of the analysis. 

     Let me turn to our findings.  Our cost benchmarking analysis began with an operating profile of EGD against the industry study group, using a series of seven metrics that quantify the relative size, the customer concentration, the average use and customer density of each utility. 

     We then measured cost performance differences between EGD and the study group according to nine metrics, and in that analysis we found that EGD was in the lowest or the best quartile in terms of O&M costs per customer, O&M costs per unit of volume, customers per employee, and labour costs per customer, excluding capitalized amounts. 

     EGD was also at or below the industry group median for net plant per volume, labour cost per customer, including 

capitalized amounts, and labour cost per employee. 

     The one area where EGD's metric was above the study group average was in net plant per customer.  But we also found the industry study group net plant per customer has been rising at a faster rate, 3 percent, than EGD's 0.93 percent over the 2000 through 2011 period.  This higher net installed plant per customer is also consistent with the other large urban gas distributors in our study. 

     We found Enbridge was generally -- has generally sustained or improved its cost position in relationship to its peers, including during the most recent IR plan period.

     The productivity findings.  This is the I-X analysis.  In this case it is the X analysis.  Productivity is generally specified, as you well know, as the difference between output growth and input growth, where annual changes in productivity are calculated as an index over some period.

And for this study Enbridge prepared both total factor productivity analysis, which includes all inputs to the utility -- so that is capital, it is labour and it is materials -- and we also conducted what is called a partial factor productivity index, which just focuses on O&M costs.

     And if we could bring up figure 14, which is page 34 from our IR report, I would like to focus on the summary findings from our productivity analysis if we could.

And if I can draw your attention to the line that's described as "whole period" down at the bottom, what this represents is the average productivity for the industry study group, the faster growing and largest seven companies subgroup, and Enbridge.  

     And what you will see is over the 2000 through 2011 period, which is the entire period, the industry had a productivity index of minus 0.32 percent.  That was very close to Enbridge's number at minus 0.28 percent, but the seven-companies subgroup was a little bit more efficient, in that it had a lower negative number, the minus 0.01 percent, which means that the -- of these groups, the seven-companies subgroup is deemed as being the most productive over this period. 

     If you will now turn to the lower period, the lower bar there, 2007 through 2011, you will see that the TFP growth rates were lower for all three groups, the industry study group, the seven-companies subgroup and EGD.  And this is consistent with trends that were found elsewhere.  I believe that Dr. Kaufmann would indicate the same from his work, that those of us that measure productivity have found that over the course of the past decade the productivity numbers have come off. 

     I would note that Enbridge outperformed the industry group in the seven-companies subgroup during the 2007 and 2011 period, which was the IR period for the company.  

     I would note that these industry productivity results are generally consistent with those estimated by other consultants, but those results range dependent upon proxy groups and time periods, and also methodological differences between consultants. 

     Based on our study, we selected the most aggressive result from this analysis, and that is the long-term TFP for the seven-companies subgroup, which is the minus 0.01 percent, as the target productivity measure for Enbridge.

     In doing so, this creates two inherent challenges for 

Enbridge.

One, the seven-companies subgroup was more efficient than Enbridge over the decade, so we were challenging Enbridge as we thought appropriate, to be at the more efficient edge of the industry.

And secondly, the long-term growth rates are all higher than recent history for all groups. 

     So again, if you look at even the seven-companies subgroup you can see that the whole period productivity is minus 0.01 percent.  If we look at just the 2007 to 2011 period, that fell off precipitously to 0.78 percent, but we're using the higher long-term trend because we believe that is the goal, this type of incentive regulation. 

     Let me now turn to the inflation factor that we developed in our study.  Concentric also analyzed and developed an inflation factor, and using a composite approach, as did the Board in its RRFE, but we included inflation measures for three elements, for labour, using the Ontario average wage index, for materials, using GDP IPI, and for capital, using the implicit price deflator for net gas distribution plant published by Stats Canada. 

     And if we could bring up figure 18, page 46 from our evidence, you will see the trends in each of these three indices over the past decade.  And as we know, the general rate of inflation was exceeded by rates of inflation for labour, and even more so for the cost of construction over this period of time, construction in general, and also true for the construction of Canadian gas distribution plant. 

     We feel as though this composite measure best reflects the cost of inputs to a company like Enbridge operating in Ontario.


Based on a consensus economics forecast of CPI and historic relationships between these measures, the composite I factor would average 2.45 percent over the forecast period versus 2.0 percent for CPI. 

     So you have the inflation rate for inputs to a utility growing at a nominally faster rate, 2 and a half percent, than your overall inflation rate if you take the average weights of each of these cost inputs based on our industry sample. 

     Let me next turn to our capital recovery analysis.  Finally, we evaluated several capital recovery options for Enbridge, including an I-X, an I-X with Y factors for GTA and Ottawa, and I-X with an ICM-type capital adjustment mechanism, and a customized IR plan as proposed by Enbridge. 

     We found that the cumulative revenue deficiencies varied from 130 million for the I-X plus Y, to 353 million for the I-X over the five-year period.  

     The only mechanism that provided recovery of projected operating and capital costs over the five-year plan was the custom option, as Enbridge has proposed.  

     In conclusion, our analysis showed that Enbridge is a relatively efficient utility based on similarly situated companies.

We understand the concerns of this Board and of stakeholders in terms of providing proper incentives for efficient utility operations.  We also understand that this proposal is a departure from the I-X model that prior programs were based upon, but I-X simply does not work in this case. 

     In our work, we see regulators looking for new solutions that provide both strong incentives and also move beyond one-size-fits-all regulatory frameworks.  We believe this is consistent with the Board's custom IR framework specified as an option for electric distributors. 

     On that point, I would like to address a question addressed to panel 1 by Vice-Chair Chaplin, and I believe that was on Friday.  In that discussion, she asked the company -- she asked if the company felt that the Board had inflation, productivity and benchmarking to assess the reasonableness of the company's forecasts. 

     I would submit that the benchmarking and productivity analyses that we have provided, along with the work that PEG has provided in the RRFE and in this proceeding, provide the Board with substantial evidence in that regard.

     Based on our analysis in sum, we believe that this proposal is a reasonable one, with value for both customers and shareholders, and consistent with the Board's fundamental principles for incentive regulation. 

     I look forward to answering your further questions.  

     MS. CONBOY:  Thank you, Mr. Coyne.


Ms. Frayer?

     MS. FRAYER:  Good morning, Madam Chair, Panel Members, ladies and gentlemen.  

     I should start with why I am here.  Enbridge retained my firm, London Economics International, in February of last year to examine concepts of incentive ratemaking mechanisms relative to the commercial realities that Enbridge was expecting to face in the next generation of incentive ratemaking. 

     As we did our research and Enbridge evolved their IRM proposal, our case study analysis of building block incentive ratemaking approaches used in other jurisdictions contributed to an informed Enbridge's customized IR plan.

     We found that the experiences of the UK and Australia were useful examples of how the building block approach could successfully be deployed in an incentive ratemaking regime.  

     And based -- but let me say -- but our assessment of the Enbridge customized IR plan was not limited to a review of Australia and UK experiences.  We also considered the economic theory of incentives and whether Enbridge's customized IR plan, as proposed, would motivate efficiency improvements and provide for sharing of benefits with consumers. 

     In addition, we considered whether the customized IR plan would accommodate the practical realities of Enbridge's circumstances.  

So I would like to spend a few minutes this 

morning discussing the case study analysis we performed, but perhaps, before I go much further, I should first explain the concept of building blocks. 

     Building blocks is an approach for setting up, a mechanism for setting up an incentive ratemaking regime by one where the revenue target requirement is set.  As the name implies, various components of total costs, revenues, are identified and then determined and then combined, added up together into a target revenue requirement.  Those revenue requirements then form the basis for a price cap or revenue cap.  

In my opinion, the customized IR plan that Enbridge is 

proposing for its second generation of incentive ratemaking is similar to building blocks.  Enbridge is building up the allowed revenue amounts, which, if the Board approves, will become a comprehensive revenue cap on Enbridge for the next five years. 

     Our case study analysis covered the UK and Australia, as I just mentioned, two jurisdictions with a long history of applying incentive ratemaking. 

     What I found is that the experience of the utilities in these jurisdictions is generally positive.  The financial integrity of the sector has been maintained.  The regulated utilities have been able to make billions of dollars of investments over the years, they have been able to grow their services, and there has been significant productivity improvements made over time, clearly benefiting customers. 

     And unlike some jurisdictions in the US that had 

experimented with an I-X but eventually switched back to cost of service, the use of building blocks has been steady for decades in Australia and the UK. 

     I have had the opportunity to study and advise utilities and investors on the use of building blocks under the UK's original I-X, as the price cap regime was known in the UK for many years, and more recently under RIIO; this is the new name for the current regulatory regime in the UK.  And although the regulatory regime in the UK has changed names and evolved over time, for example, to include new incentives and performance metrics, the basic concept of building blocks and how one approaches the setting of revenue caps or price caps has remained. 

     In Australia, the building block method has also been used for nearly 20 years.  In fact, a few years ago when the AEMC evaluated the addition of an I-X regime to the menu of regulatory options, it was decided that Australia would remain with only a building blocks approach. 

     At the same time, the Australian energy regulator has 

permitted and employed historical TFP studies to evaluate and benchmark the utility business plans, much in the same way, I believe, that Concentric had evaluated elements of Enbridge's customized IR plan. 

     So what observations can we draw from the experiences of the UK and Australia as relevant to the Enbridge proposed customized IR plan?  

Well, first, a building block framework for setting a revenue cap can provide strong incentives for productivity gains. 

     Furthermore, building blocks can provide a  comprehensive revenue cap that covers all costs.  Comprehensive revenue caps allow management the flexibility to make trade-offs between capital and OM&A spending to drive out allocative inefficiencies.  And that is the model framework that Enbridge has applied in its customized IR plan. 

     I've learned through experience that there is no one-size-fits-all regulatory regime.  I apologize; you're going to hear that phrase quite a bit today.  For example, Australia and the UK do not use the same set of specific incentive schemes.  One reason for differences may be the appetite for regulatory change.  Another reason relates to the efficacy of such schemes in the context of local issues.  Do we need to make the change?  

For example, in recent years, as I mentioned, the Australian regulator has looked at reforming its regulatory options.  In addition, I understand from reading recent decisions that AER is actually much more concerned in recent years about utilities overspending and prudency reviews. 

     There are also data issues that may be a limiting factor when considering specific features of varying IR plans' incentive schemes.  Techniques and analytical elements of the regulatory regime in other jurisdictions may not be readily transferable to Ontario. 

     Therefore, when I evaluated Enbridge's customized IR plan against the experience of other jurisdictions, I also considered what was necessary and practical in the context of the Ontario regulatory environment for gas distribution. 

     Theorizing on incentives requires that we recognize that utilities in their actions are rationally responding to the circumstances, and that requires understanding those 

circumstances.  

     In the UK, for example, the utilities know that they will have to undergo a negotiated multi-stage consultative process, with initial business plan proposals, reviews and file proposals. 

     The process in Ontario is not the same.  Why does it matter?  Well, I recognize that, in theory, there is a concern about the potential consequences of a symmetry of 

information between the utility and the regulator, and this 

theoretical issue is present with any regulatory regime approach, including building blocks. 

     However, I believe that the repeated nature and form of interaction between regulated utilities and the Board moderates such concerns in practice. 

     I observed, based on my experiences with a variety of incentive ratemaking regimes across a broad range of jurisdictions, that safeguards are an important element of an IR plan, and this is why I supported the proposal to retain an ESM.  And by "proposal" I mean Enbridge's proposal to retain ESM. 

     The ESM is specifically and especially beneficial in the context of Enbridge's customized IR plan for customers because it is one-sided.  It also indirectly protects against concerns of overstating capital expenditure forecasts and the build-up of the allowed revenue amounts, and then under-spending. 

     I also analyzed Enbridge's proposal to address the Board's goal to motivate long-term efficiency.  In Enbridge's customized IR plan, this is referred to as the SEIM.  In my opinion, it is a low-risk feature of the customized plan for consumers, but one with benefits. 

     The benefits stem from the prospective design and the 

reward.  In order to get the SEIM reward, Enbridge must undertake action on efficiency improvements in advance of knowing definitively that the Board would approve the SEIM reward.  

Therefore, the SEIM puts all of the risks of undertaking projects and demonstrating that there has been efficiency benefits on Enbridge. 

     The reward amount, the second piece that makes it an 

effective incentive, is material to Enbridge, but not overly rich due to the cap proposed. 

     The possibility of earning the SEIM reward is expected, in my opinion, to motivate Enbridge to seek out and commercialize efficiency improvements throughout the five-year term, even if it will not be able to capture the benefits of such efficiency gains directly because of the approaching rebasing. 

     In this way, the SEIM resolves one of the acknowledged 

theoretical weaknesses of a finite IR term, and that is why I compared it in my testimony to the efficiency carryover 

mechanisms that other regulators are employing. 

     In conclusion, based on my independent assessment, Enbridge's customized IR plan has strong incentive properties.  Once the allowed revenue amounts are determined and set, the revenue cap is established, the utility will then be motivated to contain costs and realize productivity improvements in order to earn a higher 

return. 

     As with I-X plans, the Board will also benefit from reduced regulatory burden in the next five years, while the revenue cap is in force.  The proposed plan also has customer protections, like the earnings sharing mechanism, and the proposed plan has additional opportunities to motivate productivity initiatives even in the later years of the IR term for the benefit of customers, like the SEIM. 

     So on a consolidated basis, these observations lead me to conclude that the customized IR plan meets the Board's objectives.

Thank you.  

     MS. CONBOY:  Thank you, Ms. Frayer.

Dr. Kaufmann?

     DR. KAUFFMAN:  Thank you, Madam Chair.  I would like to start just by talking about – well, as you know, I have written an assessment report which analyzes the company's proposal, and the company's proposal has changed a bit since I wrote that report, in two important respects.

One is the term of the plan.  The original term of the plan was for a three-year term with a cost of service true-up and then an additional two years.  They have now gone to a five-year term.

I had a number of concerns related to the term of the plan, which are essentially moot given the change.  So the parts of my report that deal with the term and the possibility for unbalanced incentives are effectively taken 

care of by that change in the company's proposal.

The other thing that has changed is the SEIM.  The company had an original SEIM proposal.  They have updated that.  And I acknowledge that they've tied that to the Alberta precedent, what was approved by the AUC, and they have made some changes, which, in their view, are designed to address some of the concerns with the AUC approach. 

     But I think it is pretty clear that the proposal, the updated SEIM is still not well designed, and it does not do what it is intended to do, so I still don't support the SEIM. 

     And in terms of the report I wrote, essentially I had four main concerns with EGD's customized IR proposal, and those were that, one, it contains inherent incentives for the company to inflate its capital expenditure forecast.

Two, it does not provide any objective evidence to support the reasonableness of Enbridge's cost forecasts, particularly its cost -- capital cost forecast.

Three, it does not contain any other features that effectively offset the incentives to inflate the cost forecasts.

And four, it does not present rigorous total-cost benchmarking evidence.

And just to briefly review the points I made there in terms of the incentives to inflate capital forecast, it is clear that Enbridge benefits financially from having a higher capital cost forecast built into its customized IR plan.  And Ms. Frayer just mentioned the fact that this is similar in some respects to a building block approach, such as the building block approaches that have historically been implemented in the UK. 

     And it is clear from the evidence in this proceeding that the regulator, Ofgem, in the UK is on record as saying that companies have incentives to inflate their capital expenditure forecast in order to maximize their scope for out-performance during the term of the plan. 

     And Ofgem has also said they have addressed these concerns and managed that risk through the use of benchmarking, and by implementing incentive mechanisms that evaluate a company's capital expenditure forecast relative to the benchmark capital expenditures. 

     Enbridge's customized IR plan does not address these 

concerns by presenting independent, objective third-party evidence on its capital expenditure forecasts, which are required in the UK. 

     And in fact, what Enbridge has proposed is a type of building block plan that the Ofgem has implemented in the past but abandoned because of its poor incentive properties.

And I believe it is important for the Board to learn from the experiences with building block regulation elsewhere and incorporate the lessons learned overseas into its review of customized IR applications, and I think it is particularly important for the Board to keep these lessons in mind for the Enbridge proposal, since the Board doesn't have -- it is the first review of a customized IR plan, and the Board has not developed any independent experience based on the experience in Ontario from how a customized IR plan would work in practice. 

     So that deals with the expenditure -- the incentives to inflate capital expenditures.  The company has claimed in some portions of its application that the earnings sharing mechanism in the SEIM addresses the incentives to inflate capital expenditures, and I don't believe there is any foundation for those claims. 

     In fact, I have presented evidence which shows that the earnings sharing mechanism, in fact, could create incentives for the companies to become inefficient in order to prevent the off-ramp provision associated with the earnings sharing mechanism from being triggered in order to prevent the plan from being terminated. 

     So that analysis, which has not been addressed or rebutted in this proceeding, shows that far from offsetting the incentives to inflate capital expenditure forecasts, the ESM and off-ramp actually compound the incentive problem.

     So I don't believe that is an effective control, and the SEIM is also not effective.  For one reason is that -- and one reason is that the SEIM is not focused on cost forecasts at all.  The SEIM is looking at average returns under the plans, and the incentives to inflate capital expenditures occur before the plan takes effect.  But the SEIM is focused on creating incentives to pursue cost efficiencies at the end of the plan, so the timing is just wrong.


So even if the SEIM was appropriately designed, the purpose of the SEIM would not be and wouldn't have any effect on offsetting companies' incentives to inflate their forecasts that are submitted before the plan -- before the plan takes effect. 

     And then finally, for benchmarking, Concentric has presented some benchmarking evidence, but it is partial evidence, and it doesn't provide a complete picture of the company's performance.  To understand performance, you have to look at capital and O&M together. 

     And I believe this is -- this is consistent with the Board's position on benchmarking and electricity distribution as well.  The Concentric study didn't do that, but evidence has been filed which shows that when you look at very simple measures of total cost per customer, which are the type of indicators that Concentric has relied on to draw its conclusion that the company is efficient, when you look at those on a total cost basis rather than an OM&A basis, the company is actually relatively high.  In 2011 it is 21st out of 26 companies. 

     So I am not proposing that that is a legitimate inference on the company's efficiency.  I think what it really shows is a number of things.

One, it shows the simplicity of the sort of methods that Concentric has relied on aren't sufficient to draw any conclusions on Enbridge's efficiency. 

     But it is important for the Board to have confidence in the company's efficiency before it embarks on a five-year plan which are tied to its cost forecasts. 

     Finally, in terms of the -- what I mentioned in my report on the relationship between this plan and other proposals that the company -- that the Board might consider, in my -- I haven't put forward a counterproposal.  That wasn't part of my mission and part of my -- what I was asked to do by Board Staff.  However, I did draw the Board's attention and stakeholders' attention to various studies that are out there that could help support and calibrate the terms of an inflation minus X plan.  I still believe that is an option, and I think it is one that the Board should consider. 

     But I should say that I could support a customized IR plan.  I am not opposed to the concept of customized IR, but I believe any such proposal has to include independent evidence.  Not the company's own projections, but independent evidence on the company's projected capital expenditures. 

     The Board needs a reference point.  It needs something that it can use to evaluate the reasonableness of the company's expenditures, rather than just the company's internal opinion.  There has to be a third-party objective opinion on whether those expenditures are reasonable. 

     So if there were -- if there was an independent study that was done that showed that the company's capital expenditures were reasonable, I believe that would -- that could be something that could be used to support a customized IR for Enbridge. 

     Second, I think it is -- it's necessary for total cost benchmarking evidence rather than partial evidence to be used to evaluate the company's efficiency.  It is just -- it's the approach the Board is using.  It is the only approach that is ultimately reliable.  If you just rely on partial cost indicators or any sort of partial indicators, it doesn't get you the comprehensive view of the company's overall efficiency, and it is too easy to cherry-pick the evidence.  So you need to take a total cost approach. 

     And finally, the SEIM.  I believe the updated SEIM still needs to be redesigned because it is still not effective, it is still not creating the appropriate incentives, and it is not rewarding the company appropriately.


And we have talked about the Australian -- the efficiency carryover mechanisms that have been approved in 

Australia.  Those are mechanisms which have been approved, which have been deemed to be effective, and they would be fairly easy just to import into this plan. 

     So I think if there is still a desire for an efficiency carryover mechanism or some type of SEIM, a third generation SEIM, then I believe it should link to the efficiency carryover for mechanisms approved in Australia and by Ofgem in the UK. 

     So I wouldn't want the Board to think that I am opposed to all customized IR plans.  That is not the case.  But any customized IR plan does have to -- it does have to support the reasonableness of the cost and the cost forecast embedded in the plan.  And in my opinion, that is the fatal flaw of the Enbridge proposal. 

     Thank you.


QUESTIONS BY THE BOARD:
     MS. CONBOY:  Thank you, Dr. Kaufmann.


I have just one quick question before we go to cross-examination.  Your fatal flaw about the independent verification, or looking at the CAPEX in particular here, is done in two jurisdictions that don't have the same type of regulatory process that we have here.


So my understanding is in both the UK and in Australia it doesn't go through an intervenor process with 

the interrogatories and with an oral hearing or a written hearing process. 

     To what extent does our regulatory process fill in for that independent expert advice that you say is the fatal flaw of this process?  

     DR. KAUFFMAN:  I don't believe that having the sort of 

process that takes place in Ontario is an appropriate substitute for having capital expenditures, and this gets to the information asymmetries, the information asymmetry issue. 

     No one in this room understands Enbridge's situation, 

Enbridge's capital needs, as well as Enbridge does, and it doesn't matter -- we could spend weeks in a hearing room, and I don't believe that that information of asymmetry would ever be erased, or that it could be erased.

It is an inherent problem with a cost-based approach, and that is why the jurisdictions that have used this approach for a long time have moved away from it, have moved away from relying on the company's own cost forecast and its own objective evidence. 

     So again, I think it is -- it is an inherent flaw that is really at the heart of incentive regulation, and why incentive regulation is a superior alternative to a very cost-based, hearing-intensive, regulatory-intensive, information-intensive approach, trying to develop the 

information through the hearing process.  

The idea behind incentive regulation is to rely on external benchmarks, and that is what they have done in the UK and they have actually used those benchmarks to supplement the company's forecast and to offset the flaws that they discovered relying entirely on the company's forecast. 

     MS. CONBOY:  Now, is that an inherent flaw that we have in all of the cost of service applications we see before us, but it just is compounded because this is five years?   

     DR. KAUFFMAN:  Yes, it is.  It is an inherent flaw with cost of service regulation.  But it is understood that it is -- cost of service reviews are an element of any incentive regulation regime. 

     So it is a limitation, and there is a trade-off between relying on the cost-based approach, which does -- doesn't create as strong incentives, and an incentive-based rate adjustment mechanism.  So there are trade-offs. 

     MS. CONBOY:  Thank you.  

     MS. FRAYER:  If I can jump in, please, Madam Chair, just a little bit on this? 

     MS. CONBOY:  Please. 

     MS. FRAYER:  I wanted to speak to the practicalities from experiences in Ofgem, and a little bit in Australia as well. 

     The use of third-party independent verification, for 

example, in Ofgem, and the design of incentive mechanisms in the UK around those, is part and parcel of the process from a practical perspective, because companies are submitting very detailed business plan information to the regulator and to the consultants that have been retained to look at the data that is simply not available in the current process that we have here in Ontario.  

     So one of the challenges I would see for a third-party 

analysis is that there is lack of information, of the detail, because there isn't another simultaneous set of gas distribution utility companies that are being formally reviewed and regulated at the same time.  Whereas, for example, in Ofgem in the last review there was more than half a dozen companies being reviewed simultaneously with significant data that was provided across the board. 

     In Australia -- we haven't talked too much about Australia, but Australia also uses building blocks, as I mentioned, and actually does not have -- Australia does not have incentive mechanisms that are currently used in the UK for looking at forecasts. 

There are use of engineering studies in Australia from time to time, but they are not a requirement, as I understand it, of the process, of the regime there. And it is also subject to certain limitations on the data side.  

So I think one of the things to think about is -- one of my personal views on this is that you need to approach it holistically, in the sense that there is always an opportunity to improve a process, but we need to think about how to practically improve the process without burdening it down. 

     I think that this concept of additional evidence needs to be thought through very carefully, before it is put into practice.  

     MS. CONBOY:  Thank you.

Have we agreed on an order of cross-examination?  

     MS. SEBALJ:  I don't know if we have an order per se, but we have an agreement that I am going to -- Board Staff is going to cross-examine first. 

     MS. CONBOY:  Okay.  According to the time I have here, you will take us well into lunch?  

     MS. SEBALJ:  Yes.  When do you prefer to break?  

     MS. CONBOY:  Is 1:00 o'clock okay for everybody? 

Teresa, you're okay?

Please go ahead. 

     MS. SEBALJ:  I may well conclude by then.  

 
CROSS-EXAMINATION BY MS. SEBALJ:
     MS. SEBALJ:  Good afternoon, panel.  As you know, my name is Kristi Sebalj and I am here for Board Staff.  The first chunk of questions are likely directed to you, Mr. Coyne, and go to the question of benchmarking.  

     There was a lot of discussion this morning about your retainer, and I won't go into that sort of detail, but I did -- if you look to page 11 of 125 of your report -- which I didn't reproduce in the compendium but I assume everyone has at hand for the purposes of this panel -- so it is page 7 of your report, page 11 of 125.  Thank you. 

     The second sentence on that page says:

"Based on a combination of research, analysis and knowledge of North American incentive regulation programs, Concentric was asked to..."

And there are a number of bullets.  I reviewed those bullets in some detail and I didn't see the word "capital," but the last bullet says:

"Benchmark Enbridge against Canadian and US peers 

across a series of operating and cost measures". 

     I am assuming that the last two words, "cost measures," includes capital costs; is that correct?  

     MR. COYNE:  Yes, that's correct.  

     MS. SEBALJ:  Okay.  I note, again, from this morning's 

discussion -- from Friday's and this morning's discussions -- I don't know if you have Undertaking TCU2.7 handy.

     MR. COYNE:  I do. 

     MS. SEBALJ:  But that was in answer to an undertaking, and you provided a productivity study outline draft and it is quite extensive in terms of what you had intended to look at, in terms of looking at productivity, and in particular III, "Productivity study methods."  And you go through TFP detailed, TFP reduced, econometric and survey approach.  

     I am assuming that for the purposes of this productivity piece, it was D that you landed on -- sorry, it wasn't D you landed on.  It was TFP detailed, and then –- sorry, TFP detailed and -- I guess PFP is B, TFP reduced form?  Is that where you ended up?  

     MR. COYNE:  In essence, yes. 

     MS. SEBALJ:  Thanks.  Did you produce a similar outline for doing what you had intended to do, or what your outline draft would have been for evaluating costs, capital costs?  

     MR. COYNE:  Well, it was -- that would have been covered under the bench -- well, total factor productivity 

includes capital costs.  So it was implied that TFP would include labour, capital and materials.  So in that sense, it is covered under TFP. 

     In terms of benchmarking, does that go to the heart of your question?  

     MS. SEBALJ:  It does.  So obviously capital is included in TFP? 

     MR. COYNE:  Yes. 

     MS. SEBALJ:  I guess the question is then what -- beyond TFP, you ended up doing a peer group study.  Was there somewhere where you laid out how you were going to evaluate the capital costs?  

     MR. COYNE:  I don't think it was detailed in more detail than this at that period of time.  That was January 31, so that was just in the first few weeks of our work. 

     And pertaining to capital, maybe a little bit of background would be helpful for everyone, I think, before we dive to the heart of your question. 

     Measuring capital for a utility is -- and I believe Dr. Kaufmann would agree, because PEG has stated this in their reports as well -- is the most difficult part of these measures and of this analysis.  The reason for that is that capital is a balance sheet item as opposed to -- so it is a stock item, but it does have -- to the accountants in the room, it does have a flow element to it as well.

They are investments made in a given year that add to the capital stock.  And then there is depreciation requirements that remove that capital stock from service of the utility, unlike O&M, which by and large is spent in a given year.  So we can monitor and track what those O&M expenditures are directly, when we measure capital plant we have to try to figure out what the use of that capital plant is in a given year.  And that is the challenge.

And as described in our analysis, we use a specific approach to that in terms of developing our TFP.  Dr. Kaufmann's firm has used that approach, and others as well, and -- without getting into the details of that right now. 

     But when it comes to unit cost benchmarking, the measure that we looked at was the one that we felt was the most reliable, consistently across all utilities, and that is we have net plant -- that is the total asset that is in place in a given year to serve utility customers -- divided by number of customers.  That's a gross measure of how much capital that utility's invested to serve its entire customers. 

     What that gives you is an aggregate measure of the size and scale of the utility's investment per customer, but it doesn't tell you what the revenue requirement is of that plant to that customer base in a given year. 

     That turns out to be a very difficult number to get at across a broad base of utilities, as we have here.  We're looking at a sample of 42 operating companies, and we cannot get at the requirement reliably of what their capital cost is in a given year the same way it is for O&M. 

     So we did include it in the benchmarking study, and we 

included -- the measure we included was net plant per customer, and also net plant per unit of volume. 

     And it was included in TFP, as I mentioned, of course, because we have the measure of capital rolled up into that index. 

     MS. SEBALJ:  But TFP is a measure of productivity.  It is just not a -- it's not an assessment of the reasonableness of the capital costs of the company.

     MR. COYNE:  Well, it is a comparison, because we're comparing Enbridge's use of all of its inputs -- labour, capital and materials -- against our industry subgroup and then our fast growing, largest subgroup.

So it does compare capital productivity, labour productivity and materials productivity individually, as well as additively, in the TFP.  

     MS. SEBALJ:  And if I just take you for a moment to that, you have taken me to a different piece of my cross, but I am happy to go there. 

     In your study, if we go to the tables that you referred to this morning, the figures -- I want to say 14.  Yes.  Figure 14, which is at page 34 of 125.

     Sorry.  We are there, but I am not there.  Just one moment.  Here we go.

When I look at this table, I see that you've -- it is entitled: "TFP index results table for EGD, the industry study group, and the seven-company subgroup".  And I will go back to the -- how you selected the peer groups in a moment, but -- and it is from 2000 to 2011, which I assume was chosen deliberately to reflect the periods of time over which Enbridge has been in some form of PBR/incentive ratemaking. 

     But if we look at the row 2000, at the very top of the table, all three groups show 100.  And that was chosen 

essentially as a placeholder; is that correct?  

     MR. COYNE:  Well, it is the base of an index, the starting year of the analysis.  We are trying to measure the change in net index over time from a common base, which is the year 2000. 

     MS. SEBALJ:  Right.  So it's the change over time, which is actually TFP growth, as opposed to TFP level; isn't that correct?  

     MR. COYNE:  That's correct. 

     MS. SEBALJ:  And so you are not actually measuring Enbridge's TFP vis-a-vis these groups?  You are merely measuring how it has changed over time as compared to these groups?

     MR. COYNE:  In order to do that, we measure TFP for Enbridge as well as the groups, and then compare them to them.  So we're measuring their -- using the same exact methodology, we're measuring their change in the growth of the TFP index over the same period of time, with Enbridge data, as opposed to the utility data for the seven or the 25 companies.

Does that go to the thrust of your question?  

     MS. SEBALJ:  The thrust of my question is that this Board shouldn't draw any conclusions as to the absolute productivity of Enbridge as a result of this analysis.

     MR. COYNE:  The relative productivity -- this will tell you the relative productivity of Enbridge versus these subgroups.  The benchmarking study will give you a sense of -- the absolute sense of their productivity on a unit cost basis.  

     MS. SEBALJ:  But I thought we just agreed that this doesn't measure TFP level, it only measures TFP growth.  So relatively, we can look at how Enbridge is performing compared to how the other groups are performing as a rate of change in TFP, but not with respect to TFP per se?

     MR. COYNE:  Well, you can look at it in isolation. 

     So for example, if you looked at the -- if you looked at the rate of change just for Enbridge over time, I guess that gives you a data point.  But it is more interesting and more compelling, I think, if you look at it vis-a-vis the industry. 

     The purpose of productivity analysis, as used in regulation, is to try to identify an appropriate target for the industry that you can hold a utility accountable to under ordinary circumstances and under trend circumstances.  That is the basic premise of productivity analysis as it applies to incentive regulation. 

     So looking at a utility's own performance in isolation from the industry doesn't really give you the target that you are looking for, if I understand your question. 

     MS. SEBALJ:  No, I don't think I am asking for that.  I am not asking to look at EGD's own performance in isolation. 

     I am simply -- and I think the point has been made, but I am simply suggesting that because this arbitrary level was chosen for the year 2000 -- and I am not suggesting there is anything wrong with that.  All I am suggesting is that this is a rate of change, as opposed to an efficiency measure per se. 

     So in other words, Enbridge's rate of change of TFP can now be compared to the industry group that you have chosen, the seven-peer subgroup, but not -- but not its productivity per se.  

     MR. COYNE:  Well, maybe I don't understand an element of your question that I wasn't responsive to, pertaining to the difference between the growth rate and the index. 

     If you look at the index, that is telling you something.  The reason that we have negative values across the Board for the industry, the seven-companies subgroup and EGD in general, although they vary year to year, is that over time what we're seeing is the relationship between -- we're measuring the relationship between inputs for the utility and outputs, and over time what we're seeing is that the industry is requiring more inputs for a given level of output, and that is why they have a negative sign on them.

     So the index itself is signalling that, the fact that we start off with an index of 100 and we end up at 97 for Enbridge.  We end up at 99 for the -- the seven-company group at 96 tells us that over the course of these 12 years the industry is consuming more inputs than it is adding customers. 

     And the reasons for that are that by and large, if you look at the components of productivity, it had to do with capital more than it had to do with labour and more than it had to do with materials.

     So the industry as a rule is consuming more capital than it did back in the year 2000, than these other inputs, and that is driving down its overall productivity.

     And the rate of change, that was occurring in the background over the course of the entire decade.  What we saw is over the course of the recessionary years during the period 2008 through 2011, we saw some slowdown in customer growth.


So you have a continued growth in capital on the one hand and a slowdown in customer growth on the other hand, and as a result of that you have a precipitous slowdown in the overall productivity measure. 

     So I guess there is some interpretation that you can apply to the index itself in addition to the growth rates, but they tell a consistent story, but you only really get that story by looking at the individual components that goes into the TFP analysis.  

     MS. SEBALJ:  At page 41 of your report, you conclude under (e):

"Concentric's benchmarking analysis demonstrates that EGD is currently an efficient utility and that EGD has continued to improve its performance relative to its industry peers, especially related to O&M costs."

     And that is due to the TFP and PFP analyses. 

     Neither TFP nor PFP measure efficiency; is that correct?  

     MR. COYNE:  They both do.  Yes.  They measure efficiency, in terms of the quantity of inputs required for the output of a utility which is serving customers.  So they both measure efficiency. 

     PFP is looking at the efficiency of the O&M side of those inputs, excluding capital; TFP includes capital.  But they both are very much designed to measure efficiency, but efficiency over time and typically in relation to some other group, like an industry group.  

     MS. SEBALJ:  Isn't it the case that they measure productivity, and that productivity and efficiency are not the same thing?  

     MR. COYNE:  They're often used hand in hand.  Productivity of -- you know, one is efficient if one requires fewer inputs to convert to output.  Productivity and efficiency, I think, are used simultaneously in that regard.  

     MS. CHAPLIN:  Sorry, I am going to interrupt you for a 

moment, Ms. Sebalj.

Could we go back to figure 14?  Oh, great.  Thanks.  Just down to the table.

There is nothing specific in the table, but I think what I want to understand is this idea that it is showing the relative performance in terms of the change in the index over time. But since we don't know, on an absolute efficiency level, where everybody started in 2000, how can we draw a conclusion as to whether or not Enbridge is doing 

well or not?  

     Like, I mean, if Enbridge started off in the year 2000 as the most efficient company on some kind of absolute measure, then that might lead you to one conclusion.  But if they in fact were the least efficient of the entire group, would that -- so don't you need to know?  

In order to draw sort of relative conclusions comparing Enbridge to either of the other subgroups, don't you have to also know where they started?  

     MR. COYNE:  You do, yes.  And we create a starting point by knowing how much capital and how much material they're providing to serve customers in year one, an absolute basis for each of these companies, and we have to estimate how much capital they're providing, the 

capital service quantity in that year to provide these customers. 

     And in order to get the capital quantity piece so that we have a starting point, we have to estimate what that capital stock in place is required to serve those customers.  And we do that by going back in time, choosing a capital stock that existed then for the company, and then carrying it forward by looking at their additions and retirements as well as capital construction cost indices, in order to triangulate around what the starting point is for each company. 

     That's the inherent starting point problem associated with estimating capital in every one of these productivity analyses. 

     So we do give them all a starting point, and we try to give them the fairest starting point we can by going back in time to get to where we think they are in the year 2000, in terms of the amount of capital they're using in that year to serve those customers. 

     Then we roll it forward over time by looking at their actual expenditures in O&M, as well as their actual additions to the capital stock from that point forward. 

     The data that we have on the actual additions to capital stock from the year 2000 forward and beyond, we have much more confidence in than our need to re-create where they were in the year 2000, because we have to look at 50 years of investments or a hundred years of investments in some cases, and estimate the quantity 

of that capital stock on a current dollar basis in that year. 

     Once we do that, we give them all a comparable starting point.  So we do have a baseline. 

     Then from that baseline, you are measuring their change from where they were in that year, in terms of how much more input did they require over time to serve the same customers versus how their output grew serving, given the size and change in their customer base.  

     So we do have a starting point, as well as a measure in time away from the starting point; we have both.  But I wouldn't -- I wouldn't advertise that it is a perfect starting point in the case of capital, because of the estimates that are required. 

     MS. CHAPLIN:  But what you're saying is that you have tried, through your adjustments -- I am not sure "adjustments" is the right word, but through your construction of the starting point, you have done your best to get it to a point where they are all comparable so therefore you can compare them; is that what 

you're -- 

     MR. COYNE:  Yes, comparable from an indexing standpoint, so we can measure from where they are from that point in time going forward. 

     We have more confidence in measuring the change from that point in time than we ever do in terms of saying we know exactly how much capital that they are utilizing in a given year, again because of the estimates required around that pre-2000 number.  

But as you go forward over time, that 2000 number is depreciating. So it becomes a little bit less important in your analysis as you go forward over time.  

     MS. CHAPLIN:  Okay.  Thank you. 

     MR. COYNE:  I hope that is an adequate explanation.  Geometric decay is the method that we use to measure capital, and there are a couple of other methods to do it, but each one of those requires an estimate of your starting point. 

     MS. CONBOY:  Let me just make sure I understand this now.  If I use this same table, or the same figure 14, and I look at Enbridge between 2000 and 2001, it's 192 and the seven subgroup is 100 to 103. 

     I can infer from that that the seven-company subgroup 

increased their productivity more than Enbridge did between those two years.  But can I infer from that that the seven companies are, in absolute terms, more productive than Enbridge?  

     MR. COYNE:  No, you would never base it on just a single year's observation. 

     MS. CONBOY:  Okay. 

     MR. COYNE:  the reason for that is because there's -- the change -- the year-to-year changes in these data, for example, just everything from cost of capital to our estimates around the capital required especially on the capital side, create a lot of volatility year to year.  

But by looking at a number of years -- typically you look at a minimum of 10 -- you can begin to establish a reliable trend. 

     It would be a mistake to ever look just at one year and think you have a reliable degree of measurement of productivity for that period of time. 

     By looking at five at a minimum, 10 preferably or even more, you now begin to develop a long-term trend. 

     MS. CONBOY:  Well, then if we look at those first four years -- well, the first five years including the hundred, I guess, are you saying in absolute terms that the seven-company subgroup is more productive than Enbridge?  Or they're just getting more productive every year than Enbridge?  

     MR. COYNE:  You would say both, actually.  Yes.  

     MS. CONBOY:  Okay.  Thank you.  

     DR. KAUFFMAN:  Can I comment on that?  

     MS. CONBOY:  Oh, please. 

     DR. KAUFFMAN:  Just to follow up on what Mr. Coyne was 

saying, yes, it is true that whenever you do one of these 

analyses, you do have to build up an initial capital stock.  

But for the purpose of this analysis, the only application, the only reason you do that is to measure the change in the company's own capital stock, or the change in the company's capital, are the change in aggregate's capital stock over time. 

     This is entirely a trend-based analysis.  And I disagree with Mr. Coyne; you can't draw any implications on the absolute level of any -- of Enbridge or any of the aggregates here, because of the fact they're all 100 in 2000, and that’s not a value that is measured.  

It isn't the case that Mr. Coyne developed some sort of process, and he just happened to measure a value of 100 for Enbridge and these aggregates.  This is an arbitrary starting point, which is fine, because the focus of the analysis is just to measure changes past that point. 

     MS. CONBOY:  Thank you.  

     MR. COYNE:  Well, I think we're agreeing that the purpose of the analysis is to measure change over time, and that is fundamental to our conclusion.  

     MS. CONBOY:  Understood.

Thank you, Ms. Sebalj. 

     MS. SEBALJ:  So we have spoken quite a bit throughout this proceeding, at the technical conference and otherwise, about the peer group study that you conducted, but I do want to talk briefly about it a little bit more.


The four criteria for the selection of the industry group began on page 21 of 125, and you spoke about them also in your opening statement. 

     I think I heard you say that similarity of operations to EGD essentially amounts to it's a natural gas utility or it is a combined natural gas utility and electricity utility, but we couldn't disaggregate the data adequately; is that correct?  

     MR. COYNE:  That's correct, yes. 

     MS. SEBALJ:  Sorry, a point of confusion for me -- and I am sure it is something simple, but I am missing it no matter how hard I look at this, and I have read your report many times. 

     The figure 4 on page -- that begins on page 19, which is a table, has 34 utilities on it; correct?  

     MR. COYNE:  Is that evidence page 19, or our page 19? 

     MS. SEBALJ:  Sorry, page 23 of 125, page 19 of your report.  

     MR. COYNE:  Right.  It includes the six Canadian companies as well. 

     MS. SEBALJ:  And the six Canadian companies, I thought I read in your evidence that you removed them for the purpose of the productivity analysis. 

     MR. COYNE:  We did.  We used them for benchmarking in our first benchmarking report that was submitted in the 2013 case.  And the reason that we did not include them beyond that is that even getting one year's worth of reliable data for these companies was a challenge.  We had to call these companies and ask for data that wasn't in the public domain, and we couldn't legitimately do that for the entire period of time.

So we only benchmarked the Canadian companies for that one year.  

     MS. SEBALJ:  Okay.  So at the end of the day, the maximum number of peers that you have used throughout your report in this case is 28; correct?  

     MR. COYNE:  That's correct.  And then we had to eliminate a few of those because the data wasn't fully available in a reliable way over the entire period of time.  

     MS. SEBALJ:  You removed those for productivity, but you used them for what you call benchmarking analysis?

     MR. COYNE:  For benchmarking, right.

MS. SEBALJ:  Yes.



MR. COYNE:  And those are MidAmerican, Philadelphia Gas, and UGI Utilities.

     MS. SEBALJ:  So there are no other Canadian companies in your peer group?

     MR. COYNE:  For the TFP analysis, no.  And I am not aware of data that would allow us to do that.  Virtually, I would say all of the studies that I am aware of pertaining to TFP for Canadian utilities rely on US data.  

     MS. SEBALJ:  Okay.  But you say for the TFP analysis, but it is also true of what you call benchmarking in your –- 

MR. COYNE:  No.  I also -- there we did include -- in the original benchmarking study that we provided, we did include the data for the six Canadian utilities as well.  

     MS. SEBALJ:  The original, but not in this report?  There is no benchmarking against a Canadian utility in this report; is that correct?  

     MR. COYNE:  That's correct.  That was the -- the report that I am referring to is dated January 7th, 2012, and that was submitted as part of the 2013 rate case.  And so I am not sure if it is part of this record or not.  

     MS. SEBALJ:  I certainly didn't see anything above 28, and I didn't see any utilities that I recognized as Canadian in any part of this report.  

     MR. COYNE:  Yes.  Okay.  To clarify, yes.  And the report submitted in this case, it included -- it included just the US companies, and the January -- as I mentioned, the January report included both Canadian and the US companies.

MS. SEBALJ:  Okay.  Thank you.  

     MR. COYNE:  And that had -- that was benchmarking using 2009 and '10 data.  The benchmarking report that you see has 2010 and '11 data.  

     MS. SEBALJ:  Thanks.  The -- 

     MR. COYNE:  And I should add the reason we did that is we felt as though the Board might like to have some measure of how Enbridge stacks up against other Canadian gas distributors, so that is why we wanted to at least provide a perspective on that vis-a-vis their US peers as well.

     MS. SEBALJ:  And then we have already spoken about the subgroup of seven that you ultimately used for some portions of your analysis, but before we go there, you have something called "Benchmarking analysis" on page 25 of 125 of your report.  And I just want to understand that for the purposes of the next few pages, where you provide figures 5, 6, 7 and 8, and then I think you do it basically as a bar graph and then as -- so there is a couple of different ways of presenting the data, but what you are doing essentially is just stacking them up and showing where Enbridge ranks?

That is the definition of benchmarking, in terms of this peer-group analysis; is that correct?  

     MR. COYNE:  Well, two facets to it.

The first piece that you have indicated on page 21, what we're doing there is we are looking at an operating profile of Enbridge, so we are trying to establish where they are from a size standpoint, a system throughput standpoint, how concentrated they are in terms of residential versus other customers, customers per kilometre of main. 

     So we wanted to try to put Enbridge in perspective, to assist us with interpreting the benchmarking results that we derived by looking at more cost performance measures.  If they were a very small utility, we might interpret it one way; if they were a large utility, we might interpret it another way.  So we wanted to at least be able to put them in perspective vis-a-vis the peer group. 

     MS. SEBALJ:  And then -- 

     MR. COYNE:  That is the purpose of the seven metrics on page 21. 

     MS. SEBALJ:  So those are what you call metrics? 

     MR. COYNE:  Yes. 

     MS. SEBALJ:  Because you have -- so you had criteria, you had the four criteria, and those four criteria were used to select the 34, which were divided into different groups depending on what kind of analysis you were doing, ultimately 28, and those were similarity of operations, similarity of weather conditions, similarity of size, and data availability.  

     And then you do something that is called metrics, and that -- or an operational profile, and those are the bullet points at page 25 of 125 of your report, where you talk about, as you say, putting Enbridge in context with respect to these different metrics, number of customers, residential customers as a percent of total customers, system throughput, et cetera.  

     But that is not benchmarking.  That is just simply an operational profile; is that correct?  

     MR. COYNE:  That's right.  It puts them in context for -- it tells us -- it is not telling us how efficient they are, but it is giving us an operating profile that we can use to interpret the cost performance and operating performance benchmarks that we used later in the report.  

     MS. SEBALJ:  And -- 

     MR. COYNE:  There are nine measures that we use there to measure cost performance and efficiency.  These are seven just designed to help us interpret those results.  

     MS. SEBALJ:  And then when we get to figure 11, you have plotted all of the companies, I believe, or 28 of them, onto what I would call a scatter plot.  And that is how you chose the seven-peer subgroup; is that correct?  

     MR. COYNE:  That's right.  When we looked at the array of companies that we had, we recognized that by virtue of the operating metrics that I just described, that Enbridge -- let me just go back.  I think it makes the point visually quite well. 

     If you go to figure 5 on page 26 of 125, you can see that Enbridge is the third-largest utility in this proxy group.  And the -- I don't believe that we show customer growth here, but there is other evidence of that on record that also shows -- and also, of course, we picked it up in our productivity analysis, because we're measuring customer growth there -- they are among the fastest growing utilities. 

     So in our minds -- and I think this is borne out by other analysis as well -- a larger utility that's a faster growing utility should have two advantages over others.  It should have some advantages in terms of economies of scale and by virtue of faster customer growth, that assisted from a TFP standpoint, because you are measuring the difference between output and input, and generally speaking, faster growing utilities will have higher TFP indices as a result of the math involved. 

     So for that reason -- to go back to your figure 11 -- as you point out, what we did there is we further segmented our universe of companies to choose those that were the fastest growing and the largest, and that was the basis of developing this seven-company subgroup that represented a stronger target from an efficiency standpoint for Enbridge.  

     MS. SEBALJ:  And isn't it fair to conclude, looking at figure 11, that Enbridge is an outlier?  It is actually unlike any of the firms that are in this peer group, including the seven-peer subgroup?  

     MR. COYNE:  Well, they are the third-largest and the fastest growing over this period of time, close to Northwest Natural.  And it was based on that analysis that we decided that we needed a smaller subgroup to best represent them.  We made the same observation.  

     MS. SEBALJ:  But isn't it the case that there are utilities out there with -- and this scatter plot, just for the record, is average customer count growth rate against average number of customers.  

     And we know, do we not, that Enbridge's growth rate is 2.6 percent on average, from 2000 to 2011?

     MR. COYNE:  That looks about right, based on the chart, yes. 

     MS. SEBALJ:  And we know that 17 of the 25 that are plotted on this have growth rates less than 1 per cent?  

     MR. COYNE:  I didn't make that count, but I will -- I guess I will trust your math.

     MS. SEBALJ:  Well, it's not even math.  It is just a visual. 

     MR. COYNE:  Okay.  I will trust it.  

     MS. SEBALJ:  And so is it not the case that if we go back to the selection criteria, which were the four criteria, that it is possible to find a peer group that is more similar to Enbridge than this particular peer group?  

     MR. COYNE:  Is that a question?  Is it possible to find?  

     MS. SEBALJ:  Yes.  

     MR. COYNE:  This is the North American sample that we have to work with.  I suppose one could go to another continent, but then I think you start to introduce problems in terms of the compatibility of the data.  

     You have -- generally speaking, you want to choose a subgroup that is large enough so that you have a robust data set that you can draw inferences from. 

     If you were to make it too much smaller than this, the 

chance for any one company to unduly influence those results becomes very large.  So we're getting towards the edge of what we consider to be a viable subgroup for analysis on that basis.  

     And I should also say that, mind you, we have measured -- we've measured Enbridge's productivity individually and against the subgroup, so we have some basis of comparison there.  And by virtue of looking at productivity, the difference between companies that are growing at different speeds and the relationship with the outputs that they consume, the TFP analysis itself helps you sort through that.  At least it gives you a sense of -- I guess it gives you a perspective on that issue. 

     But by narrowing it down to the top seven, we felt as though this subgroup at least was certainly more representative than using an entire universe of all US companies, or some broader subgroup.  

     MS. SEBALJ:  If you were before a regulator, looking at National Grid, would you not have excluded Enbridge as an outlier?  


MR. COYNE:  I guess I'm not sure of that.  The same 

considerations would have helped.  You know, what companies can we find that will bring us closest to the National Grid experience?


They're in New York, they're large, they're serving a large urban customer base.  In that sense, I think I would -- I would be inclined to want to keep them for that reason.  

     MS. SEBALJ:  Going back to the criteria to determine the peer group in the first instance, we talked about similarity of operations and you indicated that really was just that it is a natural gas utility. 

     So it did not involve any considerations of bare steel, cast iron -- 

     MR. COYNE:  We did not use – well, we used weather.  But we did not use consideration of bare steel or cast iron as a screening criterion, no. 

     MS. SEBALJ:  Nor did you use customer density or customer growth as a screening criteria, as opposed to a metric?  

     MR. COYNE:  We used customer growth as a screening criterion here, in terms of the seven-company subgroup, once we had done the analysis for the larger group. 

     MS. SEBALJ:  But not for the larger peer group?  

     MR. COYNE:  Right.  I should tell you that the subgroup that we have selected is more selective than most studies of this type.

As Dr. Kaufmann will attest, there are 

some analysts, including Dr. Kaufmann's firm, that present the entire US as a proxy group for measuring individual utilities.  

     There are others that will present a regional group, and sometimes fairly large regional groups, as a proxy for the target company. 

     DR. KAUFFMAN:  Can I just respond?

     MR. COYNE:  Well, can I finish my statement? 

     DR. KAUFFMAN:  Go ahead.  But since you mentioned my work --

     MR. COYNE:  I was going to finish the statement. 

     DR. KAUFFMAN:  Go ahead. 

     MR. COYNE:  And in British Columbia, the study that Dr. Kaufmann has provided for us on the record, that relies on a universe of -- I believe it is 65 US LDCs, without any attempt to screen down to a lower level of analysis like this.  

The CMP study that Dr. Kaufmann's firm also has provided relies on a regional group of utilities that are larger than this. 

     So I think that -- the only point I am trying to make is that I feel as though, as these studies go, we have been quite selective in narrowing down that subgroup to the seven, and to do so more finely would really run the risk of excluding companies that are really adding something of substance to the analysis.  

     MS. CONBOY:  Go ahead, Dr. Kaufmann. 

     DR. KAUFFMAN:  There is value in data.  There is value in using more data rather than less.  And when we use a 65-company sample, that is for benchmarking; we would use that for an econometric benchmarking approach.  

And again, there is value in doing that.  You can get a much more reliable model, a much more precise and detailed understanding of the industry and the cost 

drivers driving the industry through an econometric sample. 

     So the 65-unit or the 65-company sample would only be in the context of an econometric study. 

And in terms of a TFP study, there's value in looking at the whole industry.  You really don't want to screen.  

It does depend -- it depends somewhat on the application, but in general, bigger samples are better.  They will give you a more precise understanding, an estimate of the trend, the underlying trend for 

productivity. 

     And particularly for -- unless there is something specific about the company that would be specific to a region and not endemic and representative of the industry as a whole, then you would in general want to rely on a large sample to estimate TFP trends. 

     MR. COYNE:  Well, if I am not mistaken, Dr. Kaufmann, the BC study that was presented here did not rely on econometric results to further screen.  At least I saw no mention of econometric analysis in report. 

     DR. KAUFFMAN:  It was a TFP study.  That's correct.  

     MR. COYNE:  So there was no econometric analysis designed to -- 

     DR. KAUFFMAN:  Correct. 

     MR. COYNE:  -- reduce that down to some smaller sample? 

     And in that BC study, the criteria that were suggested for choosing a sample suggested that it be narrowed to those that are most like the target utility, and oftentimes used from the same region. 

     DR. KAUFFMAN:  Well, in that particular study, BC, like Enbridge, is a rapidly growing territory and it has high customer growth.  

     So because of that, there was some -- there were two 

different samples.  There was one sample national in scope, and there was another one that was focussed on high-growth distributors. 

     So there were sub-samples that were used, and the TFP results were represented for both the national sample and the sub-sample.  But again, that's -- the issue there is focussed entirely on customer growth and trying to get an understanding of choosing utilities for your sample that are growing at similar rates as the utility in question. 

     And I think this slide shows the importance of that, and why that criteria would not apply to the Concentric study, because Enbridge is up here.  It is growing much more rapidly than about two-thirds of the companies in its sample.

So the sort of screens that Mr. Coyne is talking about are designed to lead to inferences on productivity that are relevant for company-specific circumstances, particularly the circumstances that govern the growth in its territory.  

     MS. CONBOY:  Thank you.  

     MR. COYNE:  I think we are in agreement there.  

     MS. SEBALJ:  Again, I believe this is on the record in a number of places, but would you agree with me that the capital inputs account for about 65 percent of Enbridge's total costs in 2011 -- subject to check, in the ballpark? It doesn't have to be -- 

     MR. COYNE:  I know it is north of 50; I don't know that it is 65.  So if you would like me to take that subject to check, I could -- or could you cite the reference to me where you are, to make my job a little bit easier?

     MS. SEBALJ:  I don't know that I have a -- I know that we looked at the data.  I don't know that I have the exact reference as to where that data is.  So I don't know if you want to check and take an undertaking, and get back to me with your exact number?  

     MR. COYNE:  I will check that, yes.  Thank you.  But the premise of your question is, for both the industry group as well as Enbridge, in the vicinity of 50 percent or more capital is about right?

     MS. CONBOY:  I don't think we need to give it a formal 

undertaking number.  Perhaps Mr. Coyne can check it over the break. 

     MS. SEBALJ:  That's fine.  On page A-18 of your report -- which is the appendix, obviously -- you draw a number of conclusions.  And sort of your overarching conclusion is Enbridge is among the most efficient of its US peers.

MS. CONBOY:  Sorry, Ms. Sebalj.  Can you tell us out of 125, which --

     MS. SEBALJ:  Sorry, 93 out of 125. 

     MS. CONBOY:  Thank you.  

     MS. SEBALJ:  I think it is actually page A-19, the last paragraph:

"On balance, the benchmarking analysis indicates that Enbridge is among the most efficient of its US peers in most categories measured". 

     MR. COYNE:  Yes, I see that.  

     MS. SEBALJ:  And is it not the case that none of the -- that that conclusion is based entirely on analyses that do not involve capital measurements, measurements of capital costs?  

     MR. COYNE:  Well, the next sentence goes on to state:

"Exceptions are net plant per customer."

So that, yes, that is excluding capital.  

     MS. SEBALJ:  Thank you.


And you, in fact, told Mr. Shepherd this morning -- and I wrote this down, and you can correct me, but that you did not assess capital plan for reasonableness; correct?  

     MR. COYNE:  Not from a bottom-up basis.  Only from the I-X analysis that we did, yes.  

     MS. SEBALJ:  And that Mr. Simpson looked at the capital plan and cost drivers, but that he has no opinion, even if he was here, on whether they are reasonable.  

     MR. COYNE:  That's correct.  

     MS. SEBALJ:  And we have now alluded to econometric benchmarking.  If we reference page 125 of the transcript from the technical conference, which I have at tab 8 of our compendium, of Staff's compendium -- and I don't know that -- I can just put the exchange into the record without making everyone find their compendium, but --

     MR. COYNE:  I have the compendium from last week.  

     MS. SEBALJ:  You do?  

     MR. COYNE:  I do.  

     MS. SEBALJ:  Great.  Now I have to find my quote.  It is at the bottom of page 125.  Dr. Kaufmann says:

"Okay.  You said that if they relied on -- only on Enbridge and Union data, then that wouldn't be enough data.  If they relied on a US sample, as you did for your benchmarking, would that potentially lead to a reliable benchmarking -- econometric benchmarking --"

     And you -- there was a sort of a truncated exchange.  But ultimately you say:

"I go back to where we began this conversation.  If you had a robust enough data set, then I think one could begin to explore econometric benchmarking, yes."


Dr. Kaufmann says:

"Okay.  Thank you."


And you say:

"But that data is not available."

     Can you tell me what the basis is for the statement that the data is not available?  

     MR. COYNE:  Well, we did that in CME 1, as I recall -- 

     MS. SEBALJ:  Mm-hmm? 

     MR. COYNE:  -- where we list a host of data that we would want to have to reliably estimate an econometric model that would predict cost.  And when we look at what is available to us from the universe of submitted annual reports from the companies involved, as well as the other databases that we use, such as S&L, we are not -- we are not confident that the data is there that would allow us to estimate a reliable econometric model that would 

predict costs.  Nor is it typically the case, I should say, as a practical matter. 

     If you are trying to establish an industry trend line for purposes of estimating an I-X model, that is a challenge to do well in and of itself.  To think that one can further parse that data econometrically in a predictive way using an econometric model requires data that goes above and beyond that which is available for this particular data set, in our minds.  

     So that is the basis -- that is the bottom line to our 

Answer, that you will see, I believe, in CME 1, where we describe the various pieces of data that we would like to have to reliably estimate an econometric model. 

     I wouldn't want this Board to think that we're against 

econometrics.  We rely on econometrics extensively for our work.  We think it can be a very helpful analytical tool.  But as an economist, and one who relies on econometrics on a frequent basis for our work, we know that you are fooling yourself if you go into an econometric model with insufficient data for what it is that you are trying to estimate. 

     So we saw no -- when we looked at the data requirements to estimate an econometric model, we thought one could do something that would be simplistic, but it wouldn't be of value to this Board, in our minds, in terms of determining the long-term productivity trend for the industry or a subgroup, which is really our endeavour here.

We weren't trying to slice it any further than that, nor do we feel as though we had reliable data that would allow us to do so.  

     MS. SEBALJ:  Thank you.


I have probably about 10 more minutes.  Do we want to just push through?

     MS. CONBOY:  Yes, why don't we push through? 

     MS. SEBALJ:  Okay.  Perfect.

     Ms. Frayer, I wanted to just ask you a couple of questions about the SEIM.  You have provided two -- or I guess one report and an update in this proceeding.  And I understand from having asked some questions of the employee panel -- I have sort of a general understanding of your role as being an ex-post-facto review of a SEIM mechanism that the company designed; is that correct?  

     MS. FRAYER:  I think that is accurate.  

     MS. SEBALJ:  And so you didn't have any sort of primary inputs into the design of the SEIM?  It was designed -- you looked at it, you wrote a report; correct?  

     MS. FRAYER:  It was designed.  I reviewed it.  There were some suggestions made, but in totality I think it was primarily the brainchild, I think, of Enbridge. 

     MS. SEBALJ:  And in your first report, which is Exhibit A, tab 11, schedule 3, the very first paragraph says that:

"LEI reviewed the updated SEIM and finds that the updated SEIM meets the objectives of the Ontario Energy Board and is consistent with the principles of an efficiency carryover mechanism."  

     And so -- and we know from Enbridge that the changes that -- the updates to the SEIM, according to its evidence, were driven by criticisms of stakeholders.

     But you go on then in an update of your report to once again endorse the SEIM as being appropriate; is that correct?  

     MS. FRAYER:  So there was two elements, as you mentioned, to my updated -- I guess it's actually Exhibit A2, tab 11, schedule 3.  It was an update kind of that focused specifically just on the SEIM.  And I wanted to understand how the SEIM would fare against four OEB criteria that I have used to evaluate not just the SEIM but also other elements of the customized IR plan. 

     And then I think the best way to think about it is following on in my role to conceptualize some of the mechanics with case study examples.  I also analyzed how the updated SEIM compared, if you will, with other efficiency carryover mechanisms, and that is the second part where I said that I believe it is consistent with common characteristics.  

     MS. SEBALJ:  Okay.  And I apologize.  Just for the purpose of the record, I was referring to your update when I said I was referring to your initial report.  Thank you for correcting me.  

     But in both reports, you endorsed what the company was attempting to do; is that correct?  

     MS. FRAYER:  So, yes, I think in the first report I had a small paragraph or so that talked about the SEIM and the premise behind it, which is to work towards a longer-term efficiency gain and also provide for a method by -- of motivating productivity improvements at the end of the term that would produce benefits for consumers over a much longer time frame. 

     And that essence of the SEIM is still there.  The idea is to motivate management to identify and undertake productivity efficiency gains throughout the term, even though more typically under a price cap those motivations may weaken as you get to the end of the IR term.  

     MS. SEBALJ:  But in your opinion, the mechanism, the SEIM mechanism, got better?

     MS. FRAYER:  Yes.  I think it got better in a number of different ways. 

     MS. SEBALJ:  And in Staff's compendium under tab 17, for reasons that I cannot explain there are two documents under that tab, and I want to take you to the second one, which is Board Staff Interrogatory No. 29.  

     And beginning at page 5 of that interrogatory – sorry, it is I.A10.EGDI.STAFF.29.  Under (e), you talk about Australia's efficiency benefits sharing scheme, or EBSS, that has been in place for distribution network service providers since June 2008.  

     I note that this IR asked for you to provide descriptions and a comparison to Enbridge's current SEIM.  And while you do go on to say where in the evidence you can find the current SEIM, you don't actually do a side-by-side comparison; is that correct?  

     MS. FRAYER:  I don't believe I do a side-by-side comparison. 

     There are -- although the underlying concept of what has driven regulators to create these mechanisms is similar, I think the way they are actually implemented is different.  So a side-by-side comparison would make it challenging to put it in a grid, if you will. 

     MS. SEBALJ:  That's fair. 

     MS. FRAYER:  But I think they are similar.  As I noted in my response to that particular IR, the motivations are quite similar. 

     One of the differences, for example -- which I think is perhaps an advantage, if I can say so, of the SEIM -- is that the EBSS, as it is known in Australia, does only focus on OPEX.  It is an incentive mechanism that focuses just on carryover of OM&A or OPEX, whereas I think the SEIM is meant to be -- how should I say it? -- neutral, or perhaps non-discriminatory in the types of productivity efficiency initiatives that the company would undertake, if they be capital oriented, or operating cost or OM&A-only oriented. 

     It doesn't specifically specify that they need to be just operating costs or just CAPEX.  It is meant to really focus on all types of efficiency initiatives that have benefits in the long term to customers.  

     MS. SEBALJ:  But is it not the case that the EBSS has many advantages?  One of the disadvantages, I suppose, would be that it only looks at OPEX, but are there not -- is it not the case that if you did a comparison, that many of the criticisms that we're seeing coming out in this hearing would be addressed through the use of the EBSS mechanism, as opposed to the SEIM?  

     MS. FRAYER:  I am not sure which ones you are talking to specifically.  Do you have one in mind?  

     MS. SEBALJ:  Well, it says here:

"The EBSS rewards outperformance in OPEX savings and penalizes overspends in OPEX, as measured by the difference between forecast OPEX in the building block stage with actual OPEX."

     MS. FRAYER:  So it is a different incentive scheme.  I am not sure I would say it is an advantage. 

     I think that, again, the advantages of the SEIM in contrast is that it is allowing Enbridge to undertake any type of efficiency gains, OPEX, capital oriented.

And another advantage, as I mentioned earlier today in my opening statement of the SEIM, is that it requires, by construct, that Enbridge undertake those even when it isn't yet certain that it will be able to receive a reward. 

     Whereas I think with this mechanism, because it is more of a -- I don't want to use the word "bright line," but it is more mechanistic.  It doesn't promote the type of creativity one needs to apply to really look for those long-term efficiency gains, and I would suspect that it produces a different type of management focus than the SEIM does.  

     MS. SEBALJ:  Is there a reason -- and I put this to the employee panel.  I am not sure if you were there, but the current structure of the SEIM is using a five-year average during the plan term as part of the calculation of whether the reward is given. 

     Given that what you are trying to incent, at least I thought what you were trying to incent was investments in efficiency and productivity initiatives in the latter years of the term.  Would it not make more sense to have an average over the last few years of the plan term?  

     MS. FRAYER:  Let me rephrase your question just a little bit, and hopefully answer it as part of that.  

     MS. SEBALJ:  Mm-hmm? 

     MS. FRAYER:  I think this is perhaps my own fault.  I will take credit for this, that we haven't done a good enough job explaining the SEIM. 

     But the SEIM has multiple stages or multiple elements that actually determine whether there is a reward that is justified and should be approved for the company.  

     One of those stages, and the determination of the reward amount itself, is a function of looking at the five-year average of actual returns relative to allowed returns.  But that is just one stage. 

     The second stage, I think, is actually much more important, and that stage looks at the costs versus benefits of those initiatives to determine that, indeed, consumers are going to be in a net positive position based on those estimates, and that the expected net benefits that they receive from those efficiency initiatives exceed the amount of the reward. 

     By looking at the expected net benefits on an NPV basis -- and I think the example that the first panel talked to illustratively demonstrates that it is capturing, importantly, initiatives that take place perhaps right the last year before rebasing, but then start producing benefits to consumers after the end of the term of IR that we were looking at. 

     So I think that second stage is where you are capturing the time dimension element that is important, and trying to fix that theoretical shortcoming of more traditional regimes.  

     MS. SEBALJ:  And what do you do with the fact that -- 

correct me if I am misunderstanding it, but if we assume that all of the criteria are met, and I think I do understand that the NPV calculation is a criteria and not a calculation of the reward, and that the reward is provided in 2019 and 2020 -- and I am not suggesting that Enbridge would do this.  However, is it not theoretically possible that they could then abandon the program?  

     MS. FRAYER:  Well, I think one could argue that in theory everything is possible.  But in practice, because of the fact that they are going to be reporting to the Board annually on their productivity initiatives, and in practice because they are here showing their actual returns annually under the ESM filings, and in practice because they have to come back to the Board only four to five years after that for another review, I don't think that that would happen. 

     In fact, I would suggest that that is very unlikely.  

     MS. SEBALJ:  But it is theoretically possible? 

     MS. FRAYER:  Anything is theoretically possible. 

     MS. SEBALJ:  Just my last question is -- I apologize for this, but I have gone through your reports and I did hope to ask a question about Z factor.

But I am correct, am I not, Mr. Coyne and Ms. Frayer, that you did not provide any opinion or advice with respect to Z factor?  Is that right?  

     MS. FRAYER:  I am going to look, but I don't believe I had detailed conclusions on the Z factor. 

     MS. SEBALJ:  I don't believe you did. 

     MR. COYNE:  I did not.  

     MS. SEBALJ:  Thank you.  You are spared, then.

Those are all of Staff's questions.  Thanks. 

     MS. CONBOY:  Thank you very much.  We will break now for lunch until 10 after 2:00. 

     Have we got an order of cross-examination?  

     MR. SHEPHERD:  Madam Chair, I am next.  I don't know who is after that.  

     MS. CONBOY:  Okay.  Well, perhaps if parties can figure that out while we are on break, that would be great, or we would be happy to give it to you.  

     --- Luncheon recess taken at 1:10 p.m.


--- On resuming at 2:20 p.m. 

     MS. CONBOY:  Thank you.  Please be seated.


Have we got an order of cross-examination?  You are nodding your head, Mr. Shepherd.  Does that mean you are next?  

     MR. SHEPHERD:  Well, yes.  Yes.  

     MS. CONBOY:  Okay.  Please go ahead.  


CROSS-EXAMINATION BY MR. SHEPHERD:
     MR. SHEPHERD:  Thank you, Madam Chair.  My cross-examination this afternoon will probably be no more than 30 minutes, is my guess.  I really just have one area to focus on, and I will start it this way.

I am looking, Mr. Coyne, at your report, which is A2, tab 9, schedule 1.  It might assist everybody if that is available.  Do you have that, sir?  

     MR. COYNE:  I do. 

     MR. SHEPHERD:  And you, in this report, had to select a study group, which you have talked about, right?  

     MR. COYNE:  We did. 

     MR. SHEPHERD:  Yes.  And if you look at page 23 and 24 of 125, this sets out your study group, which is 42 companies in the US, and then you had another 12 companies in Canada which were not used in the productivity analysis, right?  Or another 12 companies that were not used in the productivity analysis, rather?  

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  Okay.  And then if you would take a look at page -- now I have lost it -- page 32 of 125 of your report, it lists your subgroup, which is seven companies that you believe are the most appropriate to compare Enbridge, right?  

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  And the screens that you are using are essentially business condition-type screens, right?  You want to find companies that have similar business conditions, right?  

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  And so you started with weather, and that's why we saw that picture of the line drawn across halfway through the United States, saying if you are above that line you are in, if you're below that line you're out, provisionally anyway?

     MR. COYNE:  Right. 

     MR. SHEPHERD:  And it is by state? 

     MR. COYNE:  Right. 

     MR. SHEPHERD:  Okay.  So I provided you with a list -- and I have provided copies to the Board -- which is a list of seven companies.  And perhaps this should have an exhibit number. 

     MS. CONBOY:  It will.  

     MS. SEBALJ:  K3.3.  

EXHIBIT NO. K3.3:  LIST OF SEVEN COMPANIES USED AS A PROXY GROUP IN THE EQUITY THICKNESS REPORT IN EB-2011-0354.
     MR. SHEPHERD:  And will you confirm for me that this is a list of the seven companies you used as your proxy group in your equity thickness report in EB-2011-0354?

     MR. COYNE:  They look familiar, so I will accept them. 

     MR. SHEPHERD:  Okay.  And I am just going to sort of put a little bit of information here so that we can understand.

Questar, the first name on this list, is a gas utility that bills itself as the gas utility -- gas distributor for the Rockies, and they serve Utah, Wyoming and parts of Idaho, right?

     MR. COYNE:  Yes, that's correct, they do.  Yes, they do. 

     MR. SHEPHERD:  Okay.  And Questar is -- if you take a look at your industry study group here, it is in your 25 and it is also in your seven, right?  

     MR. COYNE:  Yes, it is. 

     MR. SHEPHERD:  Okay.  Then the next one is National Fuel Gas.  That is a gas utility that serves New York and Pennsylvania, right, western New York and most of Pennsylvania?

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  And Northwest Natural Gas, which serves 

Oregon and southern Washington, right?  

     MR. COYNE:  That's correct.  

     MR. SHEPHERD:  And Vectron -- Vectren -- Vectren or Vectron? 


MR. COYNE:  Vectren.

     MR. SHEPHERD:  Vectren?  Which serves, I think, all of Indiana and southern Ohio, right?  

     MR. COYNE:  Correct. 

     MR. SHEPHERD:  Okay.  And so those three are in your 25-company group, right?  But they are not in your seven-company group?  

     MR. COYNE:  Yes.  I believe it is only Questar that is in that group of the ones you just mentioned. 

     MR. SHEPHERD:  And there's -- it happens that this -- that the scatter diagram is on the screen, and we can see that there are various reasons -- size, growth, et cetera -- why they were excluded from your seven-company group, 

right?  

     MR. COYNE:  That's correct. 

     MR. SHEPHERD:  Okay.  Then there is three other companies listed here.  One is Piedmont Natural Gas.  That serves North Carolina, South Carolina and Tennessee, right?

MR. COYNE:  Correct. 

     MR. SHEPHERD:  And Sempra Energy, which serves southern California, San Diego and that area.  It's made up of San Diego Gas and Electric and Southern California Gas, right?

     MR. COYNE:  Correct.

     MR. SHEPHERD:  And Southwest Gas, which serves Nevada and I guess now most or all of Arizona, right?  

     MR. COYNE:  Correct. 

     MR. SHEPHERD:  Okay.  And those three are not in either your 25-company list or your seven-company list?  

     MR. COYNE:  Right.  They're excluded. 

     MR. SHEPHERD:  Okay.  And they were excluded, by the way, because of geography, and if you just look at the line you drew across the United States, they're all south of there, right?  

     MR. COYNE:  They were excluded because of geography.  I am not sure if Piedmont would have made it on a size basis or not.  I'd have to check.

     MR. SHEPHERD:  Sempra would have, and Sempra, in fact, is bigger than Enbridge, isn't it?

     MR. COYNE:  Yes, they're excluded based on geography, the weather criterion that I mentioned. 

     MR. SHEPHERD:  Okay.  So I just want to go to page 26 of 125 of your report.  And these are your -- this shows sort of where Enbridge sits relative to everybody else.

     And on size, which is figure 5, you see that Enbridge is one of the largest and Questar is right in the middle, right?  

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  Okay.  And in 6 -- which is density, right?  

     MR. COYNE:  Yes. 

     MR. SHEPHERD:  Enbridge is near the top and Questar is the least dense of all of them, right?  

     MR. COYNE:  Correct. 

     MR. SHEPHERD:  Okay.  And so then I want to go to figure 8, which is -- this is one of your -- I guess, is this one of your -- this is one of your results, right?  This is --

     MR. COYNE:  It is one of the benchmarks. 

     MR. SHEPHERD:  And this is net plant per customer, and in the net plant per customer, Enbridge is much higher than the median or the mean, but -- and Questar is quite small relative to that?  Questar's net plant per customer is about, what, 60 per cent of Enbridge's?  

     MR. COYNE:  That looks about right. 

     MR. SHEPHERD:  And that is notwithstanding that Questar is much less dense, so you would expect them to have a higher net plant per customer, wouldn't you?  

     MR. COYNE:  There are a host of factors that come into net plant per customer.  It has to do with the age of the system as well, and it has to do with the type of plant that's been installed over the years.  You know, the density is one factor, the city that they operate in, the cost to that city.  All of those are factors that weigh into net plant per customer.  Density is one of those factors. 

     MR. SHEPHERD:  Generally speaking, net plant per customer correlates inversely with density, doesn't it?  Generally speaking?

     MR. COYNE:  Until you get to an urban metropolis such as Toronto; it becomes very difficult to maintain and replace and add new pipe.  But generally speaking, we would expect density to have an inverse relationship. 

     MR. SHEPHERD:  Okay.  And then I wonder if you can go to page 33 of 125 of your report.  So this is the TFP results.  And you see Enbridge there at minus 0.28, and you see Questar.  Questar looks like it is just under 1 percent positive TFP, right?  They're in fact -- of your seven-company group, they are the most productive, aren't they?  

     MR. COYNE:  They would be the second-most productive. 

     MR. SHEPHERD:  Oh, yeah?  Who is the most productive?

     MR. COYNE:  WGL. 

     MR. SHEPHERD:  Oh, WGL.  You're right.  But what I was struck with is that the three that are in your 25-company group and are not in your seven-company group, three that were comparables last year when you were talking about business risk are the three best performers; isn't that correct?  National Fuel, NWN and Vectren?

     MR. COYNE:  Best performance from a TFP standpoint?

     MR. SHEPHERD:  Yes. 

     MR. COYNE:  Yes.  They would be.  

     MR. SHEPHERD:  Okay.  And it is true, isn't it -- I don't have the data but, I mean, you know, these companies -- it's true, isn't it, that if we had Piedmont and Sempra and Southwest on this table, they would be way over there on the left-hand side too, wouldn't they?  

     MR. COYNE:  Oh, I don't know that.  

     MR. SHEPHERD:  Oh, now you don't know that?  

     MR. COYNE:  No, I don't know that.  I haven't measured them.  They're not in the study group. 

     MR. SHEPHERD:  Okay.  But you have looked at them extensively in a number of other studies, haven't you?


MR. COYNE:  But not on a TFP basis, on a cost of capital basis.  It is a very different type of analysis. 

     MR. SHEPHERD:  You've never looked at Sempra and Piedmont on a TFP basis?  

     MR. COYNE:  No. 

     MR. SHEPHERD:  Okay.  So what I am going to ask you to do -- the data for these companies is readily available, right?  I mean, it’s one of the reasons why you chose these companies in this study.  The reason why you chose them is because the data is readily available, right? 

     MR. COYNE:  Well, "readily available" is a relative thing.  There are weeks of effort required to assemble the data for these companies and add them to the database.  

     It means going back in time to pull the data from the S&L database.  We also pulled data from DOE/EIA, and then we have to pull annual reports to corroborate that data.  So it is not a small undertaking at all.  

And I would add that they were excluded for a reason, and that is that they were not in a similar weather jar.  They would violate the principle of the selection of our group.  They were not there for a reason, and it would not be a small undertaking to add them. 

     MR. SHEPHERD:  The first thing is I don't understand -- you do productivity studies all the time, right?  

     MR. COYNE:  We did a productivity study for Enbridge in this case, and it's -- the analysis we did specific to them. 

     MR. SHEPHERD:  Do you do productivity studies on a regular basis?  

     MR. COYNE:  We do -- we do benchmarking-type analysis on a regular basis.  We do -- in terms of measuring TFP as we do here, this was a very specific study for us.  We do it on a -- I would say a -- we don't maintain a specific -- when we do this, it is specific to the client we're working for at that time. 

     MR. SHEPHERD:  So you don't have a database of this 

information?  

     MR. COYNE:  The database that we have was culled in order to create a database that was suitable for these purposes.  That's why we cut it down cut it down to the 28 companies we pulled the data on. 

     It's a very significant and costly and time-consuming effort to pull this data and manipulate it, and to check it. 

     MR. SHEPHERD:  Now, I understand that your study last year was on business risk, right?  

     MR. COYNE:  Our study last year was on equity thickness, and business risk was an aspect of that, yes. 

     MR. SHEPHERD:  Sorry, you will have to educate me, then, because I thought that the Board's rule says you have to have a change in business risk in order to change the equity thickness.  And your opinion in that report was there was a change in business risk; isn't that true?  

     MR. COYNE:  I will break your question down into parts. 

     I did provide business risk analysis in our equity thickness testimony.  And I -- quite frankly, I am trying to recall the opinion we had in terms of the change of business risk over time.  

     So I could go back and look at my opinion and my evidence in that regard and refresh it, if that is meaningful to this line of questioning. 

     MR. SHEPHERD:  I will try to simplify it.  A key aspect of your report last year was business risk, right?  

     MR. COYNE:  Yes, it was. 

     MR. SHEPHERD:  Okay.  Business risk and business conditions are not quite the same thing, are they?  

     MR. COYNE:  Well, the business -- the analysis we did there was cost of capital-related, and we were measuring business risk from an investor's standpoint. 

     We weren't measuring productivity of the utility, as we are here.  It is a very different type of analysis. 

     MR. SHEPHERD:  When you are trying to find companies that are similar to Enbridge, aren't you going to be looking at many of the same things, whether you are looking at it from an investor's point of view or whether you are looking at it from an operating point of view?  

     MR. COYNE:  Only at the highest level.  But when you want to do productivity or efficiency analysis -- the companies you have referenced are holding companies in your list of seven that we used for cost of capital analysis.  And the reason that we use holding companies is because 

that's a level of data that you look at in order to determine an investor's appetite to invest in that utility versus any other utility. 

     When you do efficiency analysis, productivity analysis, we can go much deeper.  And we need to go much deeper; we go down to the operating company level. 

     It would not be at all appropriate to examine these 

companies at the holding company level, because they have a host of different -- outside of the geography issue, they have a host of different businesses that may not look anything like Enbridge's.  

So it is a very different type of analysis, and the 

screens would obviously be very different.  I’ve never seen 

a TFP study that used cost of capital type screens to select a subgroup. 

     MR. SHEPHERD:  It is interesting you say this, because 

Questar, the holding company and the operating company are one and the same, right?  It is in fact a single company, right?  

     MR. COYNE:  That can be the same, yes. 

     MR. SHEPHERD:  And National Fuel Gas, that is one company?  There is no additional subsidiaries? 

     MR. COYNE:  No, there are subsidiaries there.  

     MR. SHEPHERD:  Okay.  

     MR. COYNE:  They have unregulated storage, they have other transmission assets, they're involved very much in what's going on with moving shale gas out of the region.  So they're a very complex utility in that regard. 

     MR. SHEPHERD:  And Vectren has some operating 

subsidiaries that are all included in your study group, right?  

     MR. COYNE:  I think we break that down on the page -- 

     MR. SHEPHERD:  Page 24 of 125. 

     MR. COYNE:  Yes.  

     MR. COYNE:  Yes, we have two of their subs, Indiana Gas Company and Southern Indiana Gas & Electric Company. 

     MR. SHEPHERD:  Here is what I am trying to understand.  Of the four that we know about that are common to the two proxy groups, Questar, which is in your subgroup as well, and the other three which are not, they are four of the six best productivity performers of the whole 28.  

     And you can do it -- I mean, you can look at your table and you can estimate, within reasonable accuracy, that for those four, the productivity is going to be in the order of, what, 1.5 percent positive productivity, something like that?  

If you look at page 33 of 125 –- if you just eyeball it, it just looks like it's in that area, right? 

     MR. COYNE:  Yes, they're between 1 and 3, yes. 

     MR. SHEPHERD:  So somewhere in that range, 1.5, 1.6,

whatever.  

What I am trying to figure out is if you use the same 

proxy group and added the other three, would that suddenly go down?  Because my understanding is those three are also very high performers from a productivity point of view, and therefore that, in fact, if you use exactly the same study 

group as last -- as you did last year, you would end up with a productivity number in the order of 1.2 positive.  Is that right, or not?  

     MR. COYNE:  It would be very bad analysis to want to do so.  You would be violating every principle of good analytic selection of proxy groups if one were to do that.  You are borrowing from a proxy group selected for one 

purpose and applying it arbitrarily to another.  There would be no basis for that whatsoever. 

     It's a -- yes, there is a subset because we're choosing from the same pool of utilities, as in North American utilities.  We have narrowed this field down based on their specific operating circumstances, not on the holding company perspective in the eyes of a cost -– in the eyes of an equity investor. 

     One would -- one would certainly not borrow that sort of criteria for productivity analysis.  

     MR. SHEPHERD:  Why is it that for your study, your 

productivity study this year, weather was the single most 

important criteria because nobody even got on the list until they passed the weather test?  Whereas in your business risk analysis last year, weather wasn't even one of the criteria.  Why is that?  

     MR. COYNE:  Because in the case of cost of capital, we looked at whether or not the utilities had -- what was important was whether or not they had weather normalization in place, whether or not they had -- from an investor's perspective, was that risk mitigated through a regulatory process.  

     Here we're trying to determine the type of operating 

circumstances the company faces, because we wanted to know how it impacts the magnitude of their operating cost. 

     We're not so concerned about what the regulatory protective -- protection mechanism was.  

     MR. SHEPHERD:  Okay.  

     MR. COYNE:  Very different purposes.  And if I were to adopt this set of criteria to choose a cost of capital proxy group, it wouldn't be very -- very efficient analysis and it certainly wouldn't be very effective analysis.  

In fact, it would be unheard of to do what you suggested and to use those criteria for purposes of selecting a TFP proxy group.  It would be arbitrary.  

     MR. SHEPHERD:  I'm not sure I understand why using the 

criteria you have used here to select companies that are similar, that have similar business risks to Enbridge, would be wrong.  Help me out with that.  

     MR. COYNE:  Let me explain.  The seven companies that you mentioned for our cost of capital analysis were screened based on what I would consider to be standard cost of capital analytical criteria.  They were screened based on their credit rating.

     MR. SHEPHERD:  Of course. 

     MR. COYNE:  Credit rating is not going to impact Enbridge's operating or capital costs in the field.  That's a corporate cost.  

     They were screened based on whether or not they have a pattern of steady dividends, so we could analyze the stock market data to determine cost of capital.  That has no relationship whatsoever to their costs in the field of delivering services. 

     They were screened based on percentage of gas distribution function.  Because they're holding companies, we wanted to screen out companies that weren't very gas-oriented so that we had at least a gas-oriented financial company.


Here we could do much better than that.  We're choosing operating companies that are 100 percent gas or we're using only the gas data for the companies we have selected.

     So we can do a much better job of screening companies at the operating company level than we can at the holding company level. 

     MR. SHEPHERD:  So that would mean that you would -- for this year's study, you would not screen out some companies that you screened out last year?  

     MR. COYNE:  I am not sure if I understand your question. 

     MR. SHEPHERD:  Well, the screen is they had to have a high enough percentage of gas, right?  

     MR. COYNE:  For the -- 

     MR. SHEPHERD:  For the last study?

     MR. COYNE:  For the productivity study?  

     MR. SHEPHERD:  The previous one.

     MR. COYNE:  For the previous one, yes, they had to have 65 -- I'm trying to remember the exact number, but 65, 70 percent gas.  Here we have 100; we can do better. 

     MR. SHEPHERD:  So the screen last year screened some

companies out that could be included this year, right?

     MR. COYNE:  No.  They would have been higher than that, if we had the same data at the holding company level.  If they were 100 percent gas, they would have readily passed the screen.  We can't be that picky in cost of capital.  If we said 100 percent gas, we would have to exclude every company that had an affiliate that wasn't a gas distributor.  We would end up with just a very, very small number of companies.  Only a pure play gas distributor would know -- without any unregulated subs, you wouldn't have a proxy group. 

     MR. SHEPHERD:  A pure play gas distributor like what?  Southwest Gas is pure play, isn't it?

     MR. COYNE:  I don't believe -- no, I don't think so, but I would have to take that subject to check. 

     MR. SHEPHERD:  And isn't Piedmont?

     MR. COYNE:  I would have to look at every one of their balance sheets, every one of their annual reports, to see what subs they had.  That is not the purpose of my evidence here, so I don't have that in front of me.  

     I would find it highly surprising if any one of them were pure plays.  When we're selecting the data that we do for productivity analysis from the S&L database and from the FERC forms, we can take just the gas distributors' data, so we have a much finer -- we could do a much better job of looking at the cost structure for the underlying utility at the operating level, which is the objective here. 

     MR. SHEPHERD:  I understand.  All right. 

     MS. CONBOY:  Dr. Kaufmann, have you got any comments on this issue of what was screened for the EB-2011-0354 equity thickness proceeding and the one we have before us?  

     DR. KAUFFMAN:  I would just say that a number of the companies that Mr. Shepherd has mentioned I think should be part of a TFP study for the US gas distribution industry.

Sempra is a big company.  It is similar to Enbridge in a lot of ways, in terms of size, in terms of growth.

All three of these are high-growth companies, so from that point of view I can't really comment on the equity thickness study.  I haven't read it, so I don't want to say anything.  But in terms of those three companies and their suitability for a TFP study, I think all three are -- should be part of an overall TFP study for Enbridge, assuming the data and -- the data are available.  

     MR. COYNE:  Well, the data are available, but you are telling -- you're indicating that a California company has operating circumstances that are similar to Enbridge's and suggesting that, and I just have to take issue with that. 

     If you look at -- I think it would be instructive at this point to look at something that perhaps we could agree with, and that is, in the BC report that Dr. Kaufmann has referred to -- and it is an undertaking.  And in that report, PEG suggests screening criteria for this type of analysis.  And let me see if I can find the right page, because we might be able to have a productive discussion on that issue, because I don't think what you've just suggested would satisfy the screening criteria that you suggested in the BC report.  

     So that is in TCU1.3, and that's page 14 of 83.  Is it possible to get that up on the screen?

     MS. CONBOY:  I think Bonnie is working on it right now. 

     MR. COYNE:  I am impressed with how fast you can do that here.  

     And I read this and underlined it because I agreed with it entirely, and I think we're working from similar principles there, but I am not hearing those principles articulated now. 

     On the bottom of page 14, if we could focus on the last paragraph:

"The most common approach..."


And I would like to read:

... to customization has been to calibrate X using the input price and productivity trends of similarly situated (a/k/a "peer") utilities.  The

utilities are usually but not always chosen from the surrounding region.  The following principles are useful in choosing a peer group.  First, the average productivity trend of the group should be insensitive to the productivity trend of individual utilities that would be subject to the PBR plan."

I think we have satisfied that criterion by going to a US group:

"This may be called the externality criterion.  It is desirable, secondly, for the region to be broad enough that the productivity trend is not dominated by the actions of any handful of utilities.  This may be called the size criterion.  A third..."


And I underscore this:

"... criterion is that the region should be one in which external business conditions that influence input price and productivity growth are similar to those of the utilities that may be subject to the indexing plan."

     And I feel that is a very important condition, and that is the reason why we have chosen northern utilities that have the same types of exposures and cost drivers that Enbridge has for its system.

And I feel as though Sempra would satisfy that criterion. 

     DR. KAUFMANN:  Well, if I may, the correct criterion there is about growth.  It is about productivity growth.  And what matters for growth are customer growth, economic growth in the service territory, a variety of factors like that. 

     Enbridge happens to serve a briskly growing service territory.  Nearly all of the companies in the peer group they selected are relatively slow-growth.  That is obvious from the data that was presented on figure 14, where 17 of the 25 companies were growing at 1 percent, had output growth of 1 percent or less, and Enbridge had the most rapid output growth of about 2 -- over 2 and a half percent. 

     So again, we're talking about -- this is a discussion that applies to growth, and that applies to rate of change, and the most important rate of change issue is output growth and the factors that drive output growth.  

     MR. COYNE:  Well, I don't see how -- 

     DR. KAUFMANN:  And that criteria isn't, in my opinion, satisfied in Mr. Coyne's sample. 

     MR. COYNE:  I don't see how that relates to the region that the utility's operating in.  I don't see those as being consistent.  But I would ask that -- while we're on this issue, Dr. Kaufmann, your firm presented evidence in Maine presenting a productivity factor analysis for Central Maine Power Company.  Would you mind indicating to the best of your recollection what that proxy group was?

     DR. KAUFMANN:  The northeast US is a slow-growth region. 

     MR. COYNE:  You gave --

     DR. KAUFMANN:  Unlike Enbridge, unlike Enbridge Gas Distribution, which is an outlier.  

     MR. COYNE:  But I would only finish by saying we have chosen the largest and fastest growing utilities from this group for the reason that we think it best represents utilities operating in this geography that have the types of operating characteristics that Enbridge does. 

     MS. CONBOY:  Thank you.  Thank you.


Go ahead, Mr. Shepherd.  

     MR. SHEPHERD:  Thank you.  I am almost finished, Madam Chair. 

     Here is what I don't understand.  You chose Questar, for example, which is small, not very dense, but fairly fast growing, that serves an area that they call -- that they bill themselves as the gas distributor of the Rockies.  So it is not exactly southern Ontario.

And you said that is similar to Enbridge, their business conditions are similar to Enbridge.  But Sempra, which serves urban areas in southern California, is not similar to Enbridge, even though on the growth and size basis it is much more similar and on a density basis it is much more similar. 

     So I don't get that.  Can you help me?  

     MR. COYNE:  It's straightforward.  They're not operating in a cold weather environment.  They're operating in an area where they don't have -- they don't have months of the year where they can't access pipe.  They don't have days in the winter where they have difficulty going out to service customers and leaks and things of that nature.  They're operating in a very different type of operating environment.

We detailed those at great length; I believe it was in CME 1. 

     MR. SHEPHERD:  So the fact that they're closer on density or on number of customers, that is irrelevant?  

     MR. COYNE:  I wouldn't say irrelevant, but weather is a big factor for these companies, in terms of their operating profile and the limitations in terms of what they can do, how they go about doing it, and how they go about operating their business.  These are well known facts surrounding the gas industry. 

     Again, I believe that the principle articulated with PEG's criterion is that selecting a company from a region with similar characteristics is important.  

     MR. SHEPHERD:  Well, I'm going to ask you to undertake to provide -- I know you are going to refuse, but I still have to ask it on the record.

I am going to ask you to provide us with the 

total factor productivity for this seven-company group, the proxy group you used last year.  Four of them, we know you have, and I am going to ask you to get us the other three   and give us the total factor productivity on the same basis as the study you provided.  

     MR. COYNE:  Before I defer to counsel, in terms of this question, there's something I should say.  And that is that you are referencing holding companies that may have more than one operating subsidiary. 

     MR. SHEPHERD:  I said on the same basis. 

     MR. COYNE:  You may be asking for many more than seven 

companies.  

     MR. SHEPHERD:  Yes, I guess in the case of Sempra, there’s two.  

     MR. COYNE:  Two very large companies in the case of Sempra, yes. 

     MR. SHEPHERD:  Well, that doesn't mean the data is too large for you to handle, does it?  I mean, it is still just a set of numbers; they happen to just have another digit, right?

     MR. COYNE:  With every set of numbers comes looking at the availability of this data going all the way back not just to 2000, but prior to that, to pull the baseline for the capital for the company, and then replicating that entire process that was done, as you well know, over the course of months for this group. 

     So to go back and to redo that analysis, now pulling 

additional data, checking for missing data, going back and pulling reports that would fill in those missing observations is -- well, I rest my case.  It is not an insignificant undertaking. 

     MR. SHEPHERD:  You're saying it is too much work to do in the course of a hearing?  

     MR. COYNE:  I would have to consult with my team, in 

terms of just how much work that is.  But I would -- I question its relevance, because the proxy group you have suggested to me is an arbitrary one.  

     MR. CASS:  Madam Chair, in addition to what Mr. Coyne has already said at length, first about the shortcomings of the result of this effort, and second, about the amount of effort involved, I observe that if this request were to be pursued, it is surely something that could have been asked either at the time of interrogatories, or at the time of the technical conference. 

     In my submission, it's rather poor timing to propose 

something that Mr. Coyne has already explained has significant shortcomings and involves so much work, on the third day of a hearing.

That is my submission, Madam Chair.

     MR. SHEPHERD:  I am not asking -- I am not asking the Board order it.  I am inviting the witness to provide it.  If he chooses not to, I am not going to pursue it.  

     I do have, though, a follow-up question, Dr. Kaufmann.

     DR. KAUFFMAN:  Yes. 

     MR. SHEPHERD:  Do you have the data that you could do that study, that analysis?  

     DR. KAUFFMAN:  I know we have it for Sempra, and I believe we have it for Southwest.  Piedmont has been in our sample in the past.  I don't recall whether it is still in the sample now.  

     MR. SHEPHERD:  So would it be a lot of work for you to do a TFP -- to estimate a TFP number for those seven companies?  

     DR. KAUFFMAN:  No.  And we may want to -- if we can go back to the BC study, why don't we just take a look if we can -- if we can pull it up and look at the samples, the companies that are in that sample, because they may already be in the sample?  

     MR. SHEPHERD:  Okay.  

     DR. KAUFFMAN:  And if that is true, then we can provide the data readily.  

     MR. SHEPHERD:  Rather than go through that now, I wonder if I can just ask you to undertake, if you can, to provide us with a total factor productivity number for those seven companies for the same period that the Concentric report dealt with, and if you can't, to explain what shortcomings there are that prevent you from doing so.  Can you do that?  

     DR. KAUFFMAN:  I can do that, yes.

 
MS. CONBOY:  Let's mark those two as undertakings, and then if the panel has any direction on those undertakings, we will provide it after the break. 

     MS. SEBALJ:  When you say two, you mean one from Enbridge, from Mr. Coyne, and one from Dr. Kaufmann? 

     MS. CONBOY:  Yes. 

     MS. SEBALJ:   I just didn't hear -- I don't think --  Did you agree to provide that undertaking, Mr. Coyne?  

     MR. COYNE:  No, I didn't.   

     MS. CONBOY:  I thought you said you had the information for three of the seven companies, and that --  

     MR. COYNE:  Well, that information is on the record already, the TFPs for those three companies. 

     MS. CONBOY:  For those three? 

     MR. SHEPHERD:  Or four, actually, right?  

     MR. COYNE:  Or four, yes.  

     MS. CONBOY:  Okay. 

     MR. COYNE:  And what I don't know is if that includes all of the holding companies -- you are referring, again, to holding companies that may have more operating subsidiaries than those.  I am not sure if we have excluded any or not.  

     So yes, I can add up for the four and provide that aggregate TFP; that is fairly straightforward. 

     But I guess a note of caution, if I might.  The analysis -- you are now asking Dr. Kaufmann to provide TFP numbers for a group of companies and we have -- up until this point in time, Dr. Kaufmann has not submitted TFP analysis in this proceeding. 

     I know from other proceedings that his methodology has some differences between his and ours, so I would not expect those numbers to be directly comparable to ours. 

     And it primarily relates to how we deal with capital in our analysis.  There may be other differences as well. 

     MS. CONBOY:  I think over the break when the panel considers this request, one of the issues that we're going to have to discuss is the comparability, and the fact that at this point in the proceeding, we may be looking at new TFP numbers on which there have been no interrogatories, no type of discovery. 

     So that point is not lost on us, Mr. Coyne. 

     MR. COYNE:  Thank you.  So insofar as the answer to the undertaking, I will provide the aggregate for the four.  

     MS. CONBOY:  Thank you.  

     MS. SEBALJ:  So that is K3.3 -– sorry, wrong list.  J3.3.  And, Dr. Kaufmann, the undertaking is to provide 

TFP analysis for all seven companies; is that correct?  

     DR. KAUFFMAN:  Yes.  

     MS. SEBALJ:  And that is J3.4.

     MS. CONBOY:  I would like those just as a placeholder, because we will come back after the break. 

     MS. SEBALJ:  Okay.  Thank you. 

     MR. SHEPHERD:  Thank you, Madam Chair.  Those are all of our questions.  

     MS. CONBOY:  Thank you.  We've got -- Ms. Girvan, you are up next?


CROSS-EXAMINATION BY MS. GIRVAN:
     MS. GIRVAN:  Yes, I am.  Thank you.  I will just be very brief. 

CROSS-EXAMINATION BY MS. GIRVAN:

     MS. GIRVAN:  This is just to follow up with you, Dr. 

Kaufmann, on a couple of things you said earlier.  It is one of the things that I am struggling with, and it's come up quite a bit in the context of Enbridge's plan.

You identified one of the key problems to be Enbridge's -- within the context of Enbridge's plan, the potential for Enbridge to over-budget on the capital side.  

     I am just trying to look at this from a practical 

perspective.  I would like your views on how you would suggest we should deal with this, assuming it is done in the context of Enbridge's framework in terms of addressing the issue about capital.  

     DR. KAUFFMAN:  Well, as I said, I think there should be a benchmarking study of the capital expenditures per se, and not the company's -- although it is important to benchmark their total cost including the capital cost, what matters in terms of the customized IR are the capital investment plans that are built into that IR, and the extent to which -- an assessment of how reasonable those capital plans are.  

In my opinion, because Enbridge is an interested party, even if it is doing the best job it can and it is trying to be as objective as it can, those interests naturally colour its evaluation. 

     And I think it is important for the Board to have a third-party, outside, objective opinion on whether it would find those capital expenditures reasonable for Enbridge, given its circumstances and given the particular projects and issues that it is confronting right now. 

     And there are at least two ways that you can go about doing that.

One is to use an econometric study.  You can take an econometric study, and econometric gas distribution study, and you can turn that into -- it is relatively straightforward to take a study that is calibrated in terms of estimating cost levels, and expressing that on a rate exchange basis.  So there is a well defined way of doing that.  So you can use econometric methods to benchmark capital expenditures; that is option one. 

     Option two -- and that is the sort of thing they're talking about in Australia right now.  In Australia, they have made -- and this is very recent, but in the last few months they made a dramatic push towards increasing the amount of benchmarking that they undertake towards assessing capital plans. 

     So econometric methods is one approach, or you can use an engineering approach.  And it might even be, because this is a relatively new area and because the Board 

isn't as used to considering benchmarking evidence, econometric evidence on a rate of change basis, it could be worthwhile to do both and to have two points of reference, coming at it from a purely engineering perspective and coming at it from a more high-level econometric perspective. 

     MS. GIRVAN:  So with respect to the engineering side, what exactly are you suggesting, that an independent engineering company go in and assess the reasonableness of Enbridge's capital plans?  

     DR. KAUFMANN:  That's right.  And that is the way it's been done in the UK, and there are a number of engineering companies that -- there are a lot of engineering companies in the electric utility business, in the electric utility world, there are a lot of companies that are capable of doing that.

     MS. GIRVAN:  And on the benchmarking idea, how long would something like that take?  

     DR. KAUFMANN:  I can't speak to the engineering side of it.  From the econometric point of view, probably about two months.  

     MS. GIRVAN:  Okay.  Thank you.


Just one -- sorry --

     DR. KAUFMANN:  And I should say in terms of the econometrics, I don't want to get into the weeds on the 

econometrics, but there are two ways that you can deal with cost drivers.

You can either do it in terms of the cost measure, which is on the left-hand side of the equation, or with the independent cost drivers there on the right-hand side. 

     And I know one of the issues with Enbridge is they have a -- one of the reasons they're going to a customized IR is because of the increase in their replacement expenditures, the increase in their expenditures for system integrity, and issues like that. 

     We could restrict the sample to companies that -- companies in the US, and that's been the focus of all the benchmarking work in this proceeding.  We could restrict the sample to US companies where it is known that they're undergoing similar levels of capital replacement, and they have similar sort of system integrity issues that they're coping with.


So we can -- I think we can define that study to be very specific to a group that is undergoing the same sort of -- operating under the same sort of conditions as Enbridge.  

     MS. CONBOY:  Thank you.


I just wanted to give Ms. Frayer an opportunity to respond to Dr. Kaufmann's comments.

     MS. FRAYER:  And I guess as a curious economist and an analyst I would never say no to more analysis, but I would like to just perhaps be a little bit cautious in terms of thinking through some of the suggestions or analysis. 

     On the econometric side, one of my concerns would be the data, the sufficiency of the data that we have, and the development of the data.  I am sure Jim would like to jump in and talk to that as well, as he has looked at it more closely in the context of Enbridge analysis he has done. 

     But to do a thorough econometric analysis you need to have sufficient breadth of data, both in terms of actual data points, as well as data that describes the drivers or the explanatory factors you want to test. 

     And I have not come across a study for the US gas sector that could be a quick fix to the question here being presented for Enbridge, given the specific types of capital needs that the company has analyzed.

     On the engineering side, one of the things I would suggest is perhaps the evidence itself already has very useful information that talks to some of the same things that an engineering -- I am not an engineer, but an engineering firm would do, given the review of information I have seen in other filings. 

     For example, in Australia, it is very common for engineers, when they are used -- they are not used all the time, but when they are used -- to do unit cost kind of benchmarking, where they talk about what is the cost of a replacement main or a new main for a new customer. 

     Well, I believe the evidence that Enbridge has prepared that talks to some of the capital budgeting specifically has some information on that.  For example, they talk about the fact that their unit costs for new customer additions has been kept constant or flat to prior levels.


As an indication of productivity, in a sense, that is the type of information that an engineer would also go back 

and review and say:  Okay, they're not inflating unit costs.  There is a reasonable and a robust source for the information that they're relying on over the time frame of their analysis.

     So be -- you know, to instil a little bit of practicality, that is one of the things I would suggest in response to hearing Dr. Kaufmann and his suggestions for additional analysis.  We want to make sure that the analysis is practical and not redundant to what information has already been provided on the record. 

     MS. GIRVAN:  So just to that point, I mean, you have -- we have Enbridge's evidence, and we're familiar with it, but do you see value in an independent assessment of that evidence?  

     MS. FRAYER:  If there wasn't -- if there's particular areas that don't appear to provide sufficient information, I think the way I think about an independent assessment is it fills in holes or gaps where there is no information, in some ways, as it does -- in some ways, it is as important as validation. 

     So I think that historical data in and of itself, once 

Presented, is -- is a form of validation that you don't need an independent firm to necessarily put their rubber stamp. 

     So I think you have a lot of valuable information already in the application with respect to historical information, and how that was used grassroots to be built up.  

     Is there value?  There's potential, I would say, benefits, but there is also costs, as you heard, of doing the study.  I am not sure how much an engineering study would cost, and whether the costs outweigh the benefits or vice versa is something that is not certain yet.  

     So on a value proposition I would just want to make sure that the benefits are truly there, because this is a piece of information that -- how should I put it?  A piece of information that is not approximated or not provided for in another format.  

     MS. GIRVAN:  Okay.  I understand your position.  Thank you.  And --

     MR. COYNE:  Sorry, could I add as well, because -- on the issue of econometric modelling versus engineering validation, and I am not an engineer, but I can at least focus on econometrics. 

     To project forward, here's the dilemma I would see the Board having, is that on the electric side I understand the Board relied on econometrics to a certain extent, based on work that PEG did with data from 73 electric distributors. 

     And you're not going to have the same thing on the gas side.  Of course you have two distributors that you can rely on in Ontario, and I don't think anybody would suggest that is an adequate sample.  So again you are going to be relying on a US data set. 

     And I think that when that -- if that analysis were done as Dr. Kaufmann suggests, I would virtually guarantee you that the arguments pertaining to that analysis would get down into econometric issues associated with the quality of the data, whether or not they're missing variables and things of that nature.

But I do not think that the Board would find that analysis to be determinative for these purposes. 

     If it would find an outside expert's view of the capital plan to provided value, that is something I can't offer an opinion on.  That is really a matter of Board discretion, but I would not think of an econometric approach in this case as being a panacea.

     MS. GIRVAN:  Just a couple more questions. 

     Dr. Kaufmann, in terms of saying -- you have said that we could look at capital in terms of an independent assessment, either through engineering or econometrics.  Is there anything -- any other elements that could provide some sort of ratepayer protection against your sort of fear of over-budgeting on the capital side?  

     DR. KAUFMANN:  You mean other ways to design the plan?

     MS. GIRVAN:  Yes.  

     DR. KAUFMANN:  This is -- let me answer that a little bit indirectly, because I think one element of the plan that -- one element of this customized IR that I think tends to diminish, it's -- diminish it as a form of IR is the fact that there are a lot of deferral and variance and Y factors that are part of it. 

     And I know that I have supported the Y factors for the GTA reinforcement and the Ottawa reinforcement and some other things, but there are two new Y factors that -- or I don't know if they qualify as Y factors, but variance accounts. 

     MS. GIRVAN:  I think they're variance accounts, the ones --


DR. KAUFMANN:  Yeah, which --


MS. GIRVAN:  -- proposed for '17 and '18 on the reinforcement --


DR. KAUFMANN:  That's correct. 


MS. GIRVAN:  -- locations.


DR. KAUFMANN:  For replacement expenditures and for relocations.  Relocations doesn't really bother me, but the fact that now replacement expenditures -- well, let me just deal with that first, and then I will make one other point. 

     Replacement expenditures are now considered a subject for Y factoring or for variance accounting, to me is -- it is a bridge too far.  That is not something that should be a focus for a variance account.  That is core capital.

And if you have a five-year plan, where you have forecast built into that plan and that is the basis for your rates, then you shouldn't -- the core elements of that plan, things that are not big projects that you can't budget for or things that are locations might be due to changes in policy, external factors entirely beyond your control, the company's replacement pattern and its replacement expenditures are entirely within its control. 

     You know, they can -- it's going to depend to some extent on past customer growth, but the extent to which they undertake those replacements is very much a management decision.  And that should not be something, in my opinion, that should be Y factored or subject to a variance account. 

     So just to step back a second, we know that incentive 

regulation is supposed to be a substitute for cost of service regulation, and all of these variance accounts are very much focussed on cost recovery.  Each one is kind of a miniature cost of service review or plan in itself. 

     When you layer in more and more of these things on top of an incentive plan, it tends to -- at some point, the plan becomes something other than an incentive regulation plan.  And I haven't really made an issue of this before, you know, before this point, but I have become aware of that and I think that is a problem. 

     So I don't know if that necessarily answers your question about something they can do to protect against the forecasting issue per se.  But one thing they could do to make this plan more of a -- to move it in the direction of an incentive plan is to scale back on some of the Y factoring in variance accounts, particularly for 

replacement.  

     MS. GIRVAN:  Okay.  Thank you.

Just very briefly, you said earlier, and it wasn't clear to me, that even with the sort of updated evidence, the adjustments that Enbridge has made with its SEIM proposal, you still don't think it is a good proposal. 

     DR. KAUFFMAN:  That's correct. 

     MS. GIRVAN:  And you said that -- you indicated that specifically you would point to some models in other jurisdictions. 

     I wasn't clear exactly what models you think would create the right kind of incentives and be sort of balanced, in terms of shareholders and ratepayers. 

     You don't have to go through that exactly now, but if you could undertake maybe to provide me with what you think would be a robust model of this kind. 

     DR. KAUFFMAN:  I would be happy to do that, or I could try to give you a brief answer. 

     MS. GIRVAN:  Okay. 

     DR. KAUFFMAN:  As I’ve said, I like the Australian plans.  And Ms. Frayer mentioned the EBSS; that is an Australian-wide plan.  In the state of Victoria, at which -- she mentioned applies to OPEX only, in the state of Victoria.  I believe it was in the 2005 price review they had separate plans for OPEX and CAPEX.  

So it is possible to have both operating and expenditure -- capital expenditure efficiency carryover mechanisms. 

     MS. GIRVAN:  And have those worked, from your perspective?  

     DR. KAUFFMAN:  Yes, I think particularly the regulators believe they have worked pretty well, and they're relatively straightforward. 

     It is based on a -- there is a series of benchmarks, what they call benchmarks for operating expenditures and capital expenditures.  So this is just what is reflected in rates and what the company is expected -- it is kind of an expected level of both operating and capital expenditures in each year. 

     Then in each year under the plan, there would be a 

comparison between the company's actual OPEX or CAPEX, depending on the mechanism, to the benchmark OPEX and CAPEX, and the difference between the two is the company is allowed to keep that difference for five years, regardless of the year that –- regardless of which year of the plan we're talking about. 

     So what that means is that that is specifically focussed on maintaining the strength of incentives throughout the term of the plan, so that companies have just as strong of incentives to cut costs in year 5 as they do in year 1, because they will keep it for five years, in year 5 and in year 1.

     MS. GIRVAN:  So it accomplishes the same type of goal that Enbridge is trying with the --  

     DR. KAUFFMAN:  I believe it does.  If you look at Enbridge's example, you know, they're talking about long-term initiatives and in that particular example, the long term is 2023.  That is the end of that particular example and that is five years after the end of the plan.  

That is -- that would also be a five-year -- looking 

five years past the end of the plan would also be covered by the sort of ECMs that they have approved in Australia, and in Victoria in particular. 

     MS. GIRVAN:  Okay.  Thank you.  Those are my questions. 

     MS. CONBOY:  Thank you.  Ms. Frayer, did you want to comment on Ms. Girvan's questions with respect to the incentives to over-forecast capital? 

     MS. FRAYER:  Yes.  I was particularly interested in the -- not the last question for the moment, but the question before that, that you asked Dr. Kaufmann.  I think if I paraphrase correctly, is there other elements -- other than, I guess, independent third -- additional analysis that could be useful in safeguarding ratepayers? 

     MS. GIRVAN:  Yes.  I think the way I said it was other elements of a plan.  

     MS. FRAYER:  Yes.  And I wanted to maybe reiterate one 

element that I think is extremely important in the customized IR plan that exists already, and that is the earnings sharing mechanism. 

     I believe that that is an important element that will 

reinforce, I think, the incentives for the company not to 

under-spend against the analysis of its allowed revenue amounts. 

     In this respect, I do think Enbridge is creating a model that is specific to its circumstances, because Australia and the United Kingdom do not have earnings sharing mechanisms that work within their building blocks.  They have other mechanisms and incentive features they have created, but the earnings sharing mechanism does just that, in the sense that it holds the company accountable to the forecast it has presented and it doesn't necessarily dull or create gaming situations, because the earnings sharing mechanism, when it does get triggered at 100 basis points, is still 50/50.  

So there's still a continuing incentive for the company to incorporate efficiency productivity gains, because it gets into the opportunity to share those with ratepayers. 

     It doesn't go to zero or a hundred percent, where customers get all of the upside.  And because of that earnings sharing mechanism, I think it is very important to think of it as a safeguard, which is its purpose and design ultimately.  But it is a safeguard also in the context of thinking through how the building blocks have created the allowed revenue amounts for the revenue cap, and how the company will act in the future, given that in the future all actual costs will be completely segregated from the revenue cap. 

     So it is -- incentives will be there to cut costs and exceed its performance targets.  

     MS. CONBOY:  Thank you.  Did you want to comment on the last response, with respect to the SEIM and perhaps moving away from what's proposed to what's being adopted in Australia?

     MS. FRAYER:  My understanding is that the success, if you will, about the carryover or rollover -- they call it rollover mechanisms -- has been investigated or examined in more detail with respect to the OPEX side. 

     My other observation is that with the experiments they have had on the CAPEX side, they have segregated it.  It has, in my opinion, created a bit of the disaggregation that I understand the Board isn't seeking. 

     It becomes really:  Here's the CAPEX side, here is the 

OPEX side; we're monitoring separately and creating separate incentives, which may hamper the utility in trying to really dynamically be efficient in the term of the plan and trying to make trade-offs between OPEX and CAPEX. 

     And I understand the illustrative example we did had a specific amount of room on a single page, so we ended at a 

specific year.  But I don't think it was the intent of Enbridge in creating that illustrative example to say they're only going out to a specific year five years after the term. 

     I think they will analyze the potential benefits to customers, so long as they can have a robust estimate of those benefits for the NPV calculation. 

     So I think the point isn't to just roll over from one 

portion of the term to the next term, but really to look much longer, sustainably, implying a very longer-term aspect instead of cost cuts that happen for a certain number of years and then are terminated. 

     So I don't -- at this point, I don't feel comfortable 

recommending the incentive schemes that are being used for 

efficiency carryover mechanism in Australia.  But I do recognize that they have had a long history with OPEX and have introduced in some cases a capital one, but I am not comfortable that it would actually work with the Enbridge customized IR plan. 

     DR. ELSAYED:  Just a quick question.  I think, Ms. Frayer, you said the earnings sharing mechanism, in your view, would help hold the company through its forecast.  

     But how about what Dr. Kaufmann suggested initially, the risk of the forecast in the first place being overstated?  And what would the plan that we have in front of us do to mitigate that risk of the estimate being the forecast in the first place?  Over-forecast, I mean. 

     MS. FRAYER:  Let's take the hypothetical and play it out, so the hypothetical being the forecasts are overstated and that actual spending during the period of the revenue cap is less.  

     If actual spending is less and capital spending is going to affect the equity component of the return on equity that measures or triggers the ESM, what would happen is that they would get in a position where they have an unusual amount of frequency with respect -- a departure from their historical path forward with the ESM. 

     So with the annual filings they're doing on productivity initiatives that actually are intended to document the type of productivity initiatives that they are doing on capital and OM&A, and with their ESM filings, which are annual, I think it will become, in my opinion, quite apparent if there was that intentional, if you will, gaming hypothetically occurring. 

     And that is part of the -- part of the logic in my argument that the ESM is a safe -- a safeguard of some sort, because it instils a level of discipline on a company today to provide as best a forecast as they can today because they know that they will be under additional scrutiny year to year through the process, and there will be different consequences for the company that will be very apparent to the Board and to intervenors, frankly, within the first year of the IR plan and thereafter.  

     DR. ELSAYED:  Thank you.  

     MS. CONBOY:  Thank you.  We will take our afternoon break -- sorry, Mr. Shepherd?  

     MR. SHEPHERD:  Sorry.  Madam Chair, I was planning to go to another proceeding across the hall, but if you are coming back after the break to deal with those two undertakings, then I will be back here.  But if you are going to do that tomorrow morning, then I will go to my other proceeding. 

     MS. CONBOY:  We will probably deal with it when we come back after the break. 

     MR. SHEPHERD:  I will be here, then. 

     MS. CONBOY:  So we will break for 15 minutes, and then I understand, Mr. Brett, you are up next?  

     MR. BRETT:  That's correct. 

     MS. CONBOY:  Thank you very much.  

     --- Recess at 3:24 p.m.

--- On resuming at 3:41 p.m. 

     MS. CONBOY:  We have made a decision on the undertakings, Mr. Shepherd, and then I understand if you want to leave, you may do so. 

     MR. SHEPHERD:  It is not because I am not having fun here, Madam Chair. 

     MS. CONBOY:  Oh, we're certainly aware of that.  

     The Board will not take the undertakings that were referred to earlier this afternoon, and specifically for the record those are Undertakings J3.3 and J3.4. 

     The reason we will not take these undertakings is that we would be able to place very little weight on the results without testing of the numbers, and we do not intend to provide for additional discovery at this point in the proceeding.  

     So with that, Mr. Brett, you are up.

     MR. BRETT:  Yes, I am.  Thank you, Madam Chair. 

     MS. CONBOY:  Am I right that -- 

     MR. BRETT:  45 minutes. 

     MS. CONBOY:  45 minutes? 

     MR. BRETT:  Yes, that is what I am listed as. 

     MS. CONBOY:  So you will see us to the end of today? 

     MR. BRETT:  Well, maybe I can surprise you, Madam Chair, and be a little shorter than that. 

     MS. CONBOY:  That would be a pleasant surprise. 

     MR. BRETT:  As long as the answers are as short as my questions. 

CROSS-EXAMINATION BY MR. BRETT:
     MR. BRETT:  Mr. Coyne, I am going to start with you.  Could you turn up, please, page 9 of your study?  That is page 9 at the top right-hand side, page 5 at the bottom, so take your pick. 

     MR. COYNE:  I have that, Mr. Brett. 

     MR. BRETT:  It is part of the executive summary, I believe.  

     MR. COYNE:  Yes, I am with you. 

     MR. BRETT:  Okay.  That's right.  I would like you to look at the last sentence of the first paragraph, or the first partial paragraph, and just to set this, I will read it.  It may be the only thing I will read from your evidence today, but I will read this.  It says:


"Only rate option 4, a customized IR plan..."

And I will stop there.  That is Enbridge's plan, right?  

     MR. COYNE:  Yes, it is. 

     MR. BRETT:  So going on:

"Only rate option 4, customized IR plan with recovery of capital-related costs matched to EGD's projected capital-related revenue requirements adequately covers the costs of EGD's base capital spending and GTA and Ottawa reinforcement projects."

     I just want to ask you a question or two about the 

terminology there.  When you say a "customized IR plan with 

recovery of capital-related costs," just again for the record, tell us what capital-related costs you are referring to there in that phrase.  

     MR. COYNE:  Yes.  That is a concluding -– well, I guess it is in the front end introducing the analysis, but in that section –- oh, that’s in the executive summary -- 

     MR. BRETT:  All I am really looking for is a categorization, Mr. Coyne, of what -- I don't need the numbers.  I just want the categories of what you are calling capital-related costs.  It is depreciation plus?

     MR. COYNE:  It is depreciation plus rate of return on 

invested capital. So it is the return of the capital and return on the capital.  

     MR. BRETT:  Right.  Okay.  

     Then when you go on to say, "matched to EGD's projected capital-related revenue requirements," are the capital-related requirements the same two, depreciation and return on invested capital?  

     MR. COYNE:  Yes, they are.  

     MR. BRETT:  Okay.  So that is why you use the word "match."

And then you go on to say "adequately covers the costs of... base capital spending and the GTA and Ottawa reinforcement," that to me looks like a description of a cost of service plan, a multi-year cost of service plan.  What am I missing here?  

     MR. COYNE:  Well, there may be -- there may be some of this that is semantic, but I think fundamentally the difference is that you are looking at a projected requirement over a five-year period.  And cost of service, as we typically practice it either here or in Canada and in the US, is that you have periodic reviews.  In Canada, it is every year --

     MR. BRETT:  So it is really the annual versus the five-year?  

     MR. COYNE:  That is a fundamental difference between these approaches, and it has to do with the fact that over those five years, it is a revenue cap.  We know that there are Y and Z factors there, but it is essentially a revenue 

cap and the company doesn't have the ability to come back in, if that revenue cap is inadequate, until it breaks through the 300 basis points off-ramp over a five-year period.  

That is fundamentally different than anything we would consider to be cost of service. 

     MR. BRETT:  Okay.  Now, one other point, but let me just pursue that a little bit before I move on. 

     You are aware that we have had two-year cost of service plans in Ontario?  

     MR. COYNE:  Well, my familiarity with them has been either the IR plans which have been longer-term, or the one-year.  I am not so familiar with --

     MR. BRETT:  You were not exposed to a two-year cost of 

service plan?  

     MR. COYNE:  Not in my experience, no. 

     MR. BRETT:  All right.  Now, I just wanted to confirm, Mr. Coyne, when you have -- if we go to pages 53 and 54 of your study, so that would be -- actually, I'm sorry, it is 59.  

So that's at the top right-hand corner, page 59, and under the rubric there is capital-related requirements 

and revenues, number 2.  Okay?

     MR. COYNE:  Yes, I see that. 

     MR. BRETT:  Do you have that?  Now, at the bottom there you have a -- under, actually, number 3, you have your formulae, the equations.  And you set that out for the revenue requirement at the bottom of the page, and then in the top of the next -- the next page, you have it for the annual revenues. 

     But if we just look at the requirement equation at the 

bottom of page 55, you have ROR pre-tax times rate base, which gives you, I guess, your return on capital component of the requirement; correct? 

     MR. COYNE:  Yes, it does, pre-tax. 

     MR. BRETT:  My question is -- and I think I know the answer, but I just want to confirm this -- the ROR numbers that you put into the equation, these are numbers that the company has provided you with; correct?  

     MR. COYNE:  Yes. 

     MR. BRETT:  For each year? 

     MR. COYNE:  Yes.  They are the company's estimates of its debt cost on a going-forward basis, and its estimates of the Board's formula -- the ROE that would be produced by the Board's formula. 

     MR. BRETT:  But you are doing nothing with that.  You don't create with that -- you use that -- it is given to you by the Board and you use that in your equation -- given to you by the company? 

     MR. COYNE:  The company's calculations, yes.  I think it came out of their finance department. 

     MR. BRETT:  All right.  Then the other thing, the third point is I want to ask you if you would turn up Mr. Kaufmann's analysis -- assessment of the company's proposal, and I would like you to turn to page 38, please.  

     MR. COYNE:  Can you give us an exhibit reference for that?  

     MR. BRETT:  Yes, I can give you that.  It is Exhibit L, tab 1, schedule 2, and it is page 38 of 60.  

     MR. COYNE:  Yes, I have that.  

     MR. BRETT:  Okay.  Now, as I understand it, just as context here -- and I don't have a specific reference, but we've been through a couple of rounds of discussions of the fact that you first -- in determining your industry group, you first selected the states, the northern states; correct?  

     MR. COYNE:  Yes, sir. 

     MR. BRETT:  Then within those states, you selected a group of companies?  

     MR. COYNE:  Correct. 

     MR. BRETT:  And what Mr. Kaufmann says here is that -- if I look at the very first line, the third criterion, and that is your use of states, is problematic.  And then if you look down in the middle of the second paragraph, he says –- sorry, the beginning of the second paragraph on that page:

"PEG has been benchmarking gas distribution costs for nearly two decades, and we cannot recall a single PEG study finding a statistically significant relationship between a gas distributor's costs and heating degree days in its territory.  CEA does not present any evidence to support the similarity in weather criterion, or even a rationale for why weather is a reasonable basis for selecting a peer group in a gas distribution cost benchmarking study."

     Do you agree with that?  

     MR. COYNE:  We responded to -- no, I don't agree with that.  We responded to this.  Quite frankly, at the outset we thought that it was such an obvious relationship that we may not have provided as much evidence as some might like to have seen around that, but we responded to it in some detail -- I believe it was in CME 1 -- in terms of that rationale. 

     MR. BRETT:  Yes, I read that, but the question I was -- but in that analysis, you touched on a number of weather-related factors.  But I didn't see any evidence, outside evidence, justifying why weather would be a reasonable basis. 

     So am I correct to say that this is a sort of Concentric-invented -- and I say that not pejoratively, but this is something you invented yourself.  This is not something that you can point to another study in another case or an academic study or an energy law journal study or an energy policy journal study?  You can't point to an independent -- in the sense of other than Concentric -- analysis that shows why you would seek to have weather as the determining -- the first screen in developing a peer group for the purposes that you have developed it in this proceeding?  Can you do that?  Is there anything that you can point to?  

     MR. COYNE:  Well, several things.  First of all, we do -- we look at heating and cooling degree days routinely for the research we do for both the gas and the power industries.  Weather is a well known driver of demand and a well known driver for gas costs. 

     I consulted at the outset of this study with Jim Simpson, who is on our team, who worked for Bay State Gas Company for decades in his career and has deep knowledge of the gas industry cost structures and operating factors.  And at the outset of the study he suggested that we look hard at weather as a cost driver.


And we began from that standpoint of having a fundamental understanding that it is a significant cost driver for the industry.  It is just well known in the gas industry that weather has significant impact on how you operate and your cost to operate.  

     We addressed it at some length, and I think it would be worthwhile, given the focus on this issue, to turn back to CME 1, where we addressed that issue.  And I --

     MR. BRETT:  What I would prefer to do is to say this -- ask you this.  I didn't ask you about whether weather impacted natural gas costs or natural gas volumes, but we are not talking about that in this instance. 

     What I am talking about are you are screening for capital costs and operating costs.  And your analysis in this case deals with capital and operating costs, right?  Total factor -- 

     MR. COYNE:  Yes, it does. 

     MR. BRETT:  And the question then becomes:  Is weather a driving determinant in assembling a peer group for looking at capital costs and operating costs?  That is the question.  And that is what I think is being addressed in this -- 

     MR. COYNE:  It absolutely is, and I think --


MR. BRETT:  But you have no other evidence?  Other than outside your own company, you have nothing to support that? 

     MR. COYNE:  Mr. Brett, I have been working in this industry for 30 years. 

     MR. BRETT:  I have been in it 40 years, Mr. Coyne. 

     MR. COYNE:  Good.  Then we should be able to have a good conversation.  And from the outset of -- I began my career by looking at gas supply plans for gas utilities in Massachusetts, and the single most important factor driving the design of their system is weather.  It determines how much storage they have to have.  The design day criterion for gas utility systems is a very important criterion. 

     Warm weather companies don't have the same kind of needle peaks and needle spikes that winter weather utilities have.  They don't have days where they can't operate on their system because of frost heave, buried pipes that they can't get at.  They don't have the same constraints in terms of getting out to read meters, to operate and maintain their systems.  It impacts their system in a very fundamental way. 

     It is a very, very appropriate high-level screen to begin to look at companies that have similar operating circumstances.  You heard me refer to the PEG study in BC, and this is what has been said elsewhere, that when PEG screens for companies, they screen for companies in the same region. 

     They did so in Maine.  They used that same criterion in BC, or at least it was articulated as a criterion.  The regional characteristics impact weather, but they also impact cost structures. 

     MR. BRETT:  Well, Mr. Coyne, would you agree with me that by making weather your primary screen -- and I think we're agreed at least on that; weather is your primary screen.  If you didn't get over the weather hurdle, you don't get into the study; correct?

     MR. COYNE:  It was an initial screen, but --


MR. BRETT:  And it was --


MR. COYNE:  -- company size was also used at that --

     MR. BRETT:  Yes, but it was more than an initial screen.  It was a screen that you, as I understand it -- correct me if I'm wrong -- that you had to comply with to get in.  In other words, it was a necessary but -- to use the logician's phrase, it was a necessary but not sufficient condition to be in your peer group; correct?  

     MR. COYNE:  Yes, it was a definitive screen.  And recall that we also screened down to seven companies.  That was just an initial screen. 

     MR. BRETT:  I am talking about the initial screen. 

     MR. COYNE:  Right. 

     MR. BRETT:  And you would agree that by using weather as a necessary condition for getting admission to your first group from which your smaller group is chosen, you did rule out -- and this hearkens back to some earlier conversations, but you did rule out de facto some of the faster growing utilities in the United States.


MR. COYNE:  If there --


MR. BRETT:  Utilities in the sun belt and the southwest, in the west, and so on.  

     MR. COYNE:  Yes, because --

     MR. BRETT:  And I don't want to take six hours to go through them all and debate them all with you, but you did rule those out? 

     MR. COYNE:  We ruled them out if they were warm weather utilities, because the nature of their operating environment is very different, yes. 

     MR. BRETT:  You ruled them out -- to put a finer point on it, you ruled them out because they weren't in the states that were coloured blue in your graph? 

     MR. COYNE:  That had comparable weather environments to Enbridge, yes. 

     MR. BRETT:  Those are my questions.  The rest of them have been taken already, and so I am finished.  Thank you. 

     MS. CONBOY:  Thank you very much.  

     Mr. Quinn, are you ready to go today?  

     MR. QUINN:  Yes, I am, thank you.

     MS. CONBOY:  And am I correct you have about 15 minutes?

     MR. QUINN:  Somewhere around that time.  I think it could be shorter even. 

     MS. CONBOY:  Thank you.  Go ahead, please.


CROSS-EXAMINATION BY MR. QUINN:  
     MR. QUINN:  Good afternoon, panel.  My name is Dwayne Quinn.  I represent the Federation of Rental Housing Providers of Ontario.  And my questions, I guess, just fall into two main areas based upon the dialogue we have had to this point today. 

     Initially -- Ms. Frayer, my first question is for you --  Ms. Girvan was asking Dr. Kaufmann about mechanisms that would protect ratepayers against systematic over-forecasting, specifically in the area of capital.  And I understand, Ms. Frayer, you were cautioning us against adding additional mechanisms beyond which, you know, have been applied for by the applicant to this point. 

     But in doing so, you referred to the fact that you thought that the earnings sharing mechanism already proposed by the company had the effect of giving some discipline to the company, in terms of this aspect of capital forecasting.

My question for you is:  Hypothetically, if the company forecasted $400 million in capital spending and its actual spend for the year was $300 million, what financial consequences would be visited on the company through the earnings sharing mechanism that would provide a disciplinary effect on the company?  

     MS. FRAYER:  Let me just qualify, to make sure I got the hypothetical fully.  When you say 400 million versus 300 million, you are discussing capital spending, not just general spending? 

     MR. QUINN:  Precisely.  

     MS. FRAYER:  Okay.  So I think there's two elements to it.

There will be consequences for the company within the specific mechanics of the earnings sharing mechanism, because capital spending basically will be reflected as part of the ROE calculations.  

     But I think also, very importantly, the difference between the forecast and actual capital spending will be documented as part of the reporting of productivity initiatives, as part of the reporting for the ESM itself and the mechanics of it, and I think it will be part of the process of those annual reports for the company to document differences and to discuss what is driving those differences. 

     I think that one cannot presume simply because spending is less than forecast, that that is, in fact, intentional gaming of a situation. 

     There are many reasons why spending will diverge from forecast, and those reasons are actually due to evolving 

circumstances that weren't anticipated.  Differences could be related to productivity initiatives, and differences could also be to timing issues. 

     In fact, I think -- I believe as part of the technical 

conference I had some undertaking -- one undertaking response where I provided reports that Ofgem and regulators in Australia had published regarding those situations and what they themselves gathered from data submissions they received from their regulated utilities, thinking through what are the various drivers to differences between forecast and actual. 

     I think that will be a consequence, that the regulated 

utility will need to demonstrate and discuss the basis for 

differences that will become apparent through the annual 

reporting.  

     MR. QUINN:  And so the financial consequence of that would be?  

     MS. FRAYER:  Financial consequence, other than the impact on the ESM formula?  

     MR. QUINN:  You described at length the reporting of the reasons for variance in capital spending.  What would the financial consequence be in that reporting?  

     MS. FRAYER:  So I think from the reporting side -- so 

separately, there will be consequences as part of ESM, but we can leave that aside. 

     In addition, I think a financial consequence over time from the reporting aspects is a decision or determinations in future regulatory processes.  

     MR. QUINN:  So no financial consequences year 1.  If it is systemic over five years, you would think that might bear on the next application by the company?  Is that a summary of what you said?  

     MS. FRAYER:  Well, when you say "systemic," is it systemic with reasonable explanatory reasons for why it is systemic, such that, for example, there is under-spend because there has been a great productivity initiative undertaken that provides benefits to consumers?  

     MR. QUINN:  I am trying to not to get us into a whole bunch of what-ifs. 

     What I am hearing is no financial consequence from that difference of reporting.  

     MS. FRAYER:  Well, I think the hypothetical requires what-ifs, so I apologize.  I am not trying to be unreasonable here.  But I think the financial consequences are to the -- especially with those numbers, there's going to be earnings sharing triggered through the ESM. 

     MR. QUINN:  How would that come into effect?  I am trying to understand the mechanics behind your thinking.  

     MS. FRAYER:  Well, if the company is cutting spending, it will have, in effect, more income under the revenue cap and a lower regulated or equity base, and therefore the ROE will be higher on an earned basis against what is the allowed benchmark in the ESM.  So earnings sharing would be triggered.

Of course there are specific parameters around the earnings sharing plan and the customized IR plan, but to the extent those are breached, there would be earnings sharing with customers. 

     I think there will be potentially consequences, especially if you have a what-if example that is extreme with off-ramps.  I just don't know if that meets the thresholds potentially, but -- 

     MR. QUINN:  We're still talking about capital spending, right?  

     MS. FRAYER:  Yes. 

     MR. QUINN:  All right.  I think I will move on to my next area, then.  Thank you.  

     Now, Dr. Kaufmann, I respect that you have assisted in terms of the analysis you have done, but you have been very intentional about communicating that you were not asked to provide an alternative construct for this proceeding; that's correct, sir?  

     DR. KAUFFMAN:  That's correct.  

     MR. QUINN:  But I was intrigued this morning, as you were, in answer to some questions, I think, from Mr. Shepherd -- or it might have been from Ms. Sebalj.  But you did indicate that, you know, with your understanding of I-X and –- and I may be inferring this, but your understanding of this application to this point, that the ability to build an I-X model, there were already components of 

what would be needed already on the record in this proceeding. 

     You can either answer now, or I would be happy with it by undertaking if that is more appropriate.  But if I were 

interested in trying to construct an alternative to the proposal that the company has made on an I-X basis, where would you recommend that we would start, based upon the record in this proceeding?  

     DR. KAUFFMAN:  Well, the record in this proceeding already has, in the Concentric study, an inflation factor and a productivity factor.  So that would be a starting point for approaching both the I and the X. 

     Now, I have issues with both of those pieces of analysis, but that would be the place to start because that is already on the record. 

     There is other evidence that could be developed on alternate ways of measuring inflation, alternate TFP studies which could be done in a fairly straightforward and inexpensive way. 

     So I guess I would say that there already is a record.  I don't believe the record, as it stands now, is appropriate.  I believe it should be refined, but it is a starting point and I think putting additional information on the record would not be -- would not be that burdensome.  

     MR. QUINN:  And again, certainly I and maybe others -- 

especially the Board -- may be interested.  Would you be able to, by way of undertaking, just delineate where a couple -- the major shortcomings, as you see them, that in any way would inhibit us from presenting an I-X alternative in this proceeding?

     DR. KAUFFMAN:  The major -- could you repeat the question?

     MR. QUINN:  The major deficiencies, I think you called them -- the record should be refined because there's some areas that would need to be enhanced.  Would you be able to delineate those in a way that would be helpful to us to understand -- if any of the record may need to be built, where would it need to be built to be able to construct an I-X for Enbridge's concerns?  

     DR. KAUFFMAN:  Yes.  Well, I have mentioned -- my report does discuss this to some extent.  Maybe not in great length, but in terms of -- there are three components; there is the inflation factor, productivity factor and the stretch factor. 

     The inflation factor, I think, two out of the three -- that is, they have a three-component inflation factor.  I think two out of the three components are fine. 

     I think the capital cost component is incorrect.  It's 

incompatible with what they've done for measuring capital cost on the capital input side.  So that is an internal inconsistency in their study. 

     That could be amended, though, in a relatively 

straightforward fashion. 

     For the productivity factor, as I have said, I believe the study is not representative of the industry.  It has 

artificially hived off about half of the US, and the parts of the US which are most similar to Enbridge in terms of growth patterns. 

     So in that sense, I think it is not -- I believe that study should be enhanced and it should include a more representative sample, and that can be done.  Not that I am recommending to PEG that they necessarily do this work, but PEG has a lot of that information in-house, so we could supplement that study. 

     Then on the stretch factor, the stretch factor -- to really assess the stretch factor issue rigorously, we need to do -- there should be a total cost study, and I believe it should be a total cost econometric study.  And that is not that difficult to do.  

     Mr. Coyne was talking about the -- what he sees as some of the difficulties with the data and with the details of that analysis. 

     I've testified in support of a number of productivity 

studies that have been used, that have been approved by regulators as the basis for stretch factors.  So I tend to differ.  I believe that it is something that's -- while it is not -- while econometrics always poses some challenges, the Board has been through those challenges a number of times.  I think this Board is well equipped to deal with econometric issues.

So I think an econometric investigation of the company's costs would really provide a much more refined and precise answer on whether or not they are efficient and what -- and would inform the choice on an appropriate stretch factor for the company. 

     So I guess in terms of I and X, those are the three components, and it is mostly the empirical record that, in my opinion, needs to be refined.

MR. QUINN:  Okay.  Thank you very much.  Those are my questions. 

     MS. CONBOY:  Thank you.


QUESTIONS BY THE BOARD:
MS. CONBOY:  Mr. Coyne, I am wondering if you would like to comment on items 1 and 3 that Dr. Kaufmann just spoke about, the first one being what he claims is the inconsistency between -- in the calculation of the capital index used in inflation in the TFP.  I think we have heard 

about your differences of opinions with respect to the screening process, but then, finally, with the stretch factor as well. 

     MR. COYNE:  Thank you.  I would.  

     Yes, the comment pertaining to the inflation factor pertains to the fact that when you develop a capital input quantity and price, you do so using a host of data that typically is not available to a regulator that wants to use an inflation factor on a going-forward basis.  It is a very complex analysis. 

     I believe that Dr. Kaufmann would attest to the fact that in Alberta PEG suggested such an approach, and it was rejected as being overly complex. 

     I am aware that this Board selected a two-factor I factor, to input I factor for the electrics, so I wouldn't assume that this Board was looking for more complexity.

     So inevitably when you're looking for a going-forward I factor, you want something that's available -- generally available in the public domain and it comes from reliable and objective third-party sources. 

     So for that reason, the capital index that we chose is one that is provided by Stats Can and attracts the cost of construction for gas distributors across Canada. 

     In our view, that is just much more appropriate than to try to create a synthetic capital index requiring all the inputs that go into capital quantity -- or capital price, I should say, that goes into the TFP analysis. 

     So there -- you always make compromises in terms of the inflation factor used on a going-forward basis.  And if you think about where the Board has been in the past, it was using GDP IPI, and I think we can do a little bit better than that by breaking that down between general levels of inflation, inflation for labour, and inflation for capital.

     And it is a Stats Can number.  It covers all of Canada, and it covers gas distributor construction.  I think it is a very reasonable compromise. 

     So that would be my response to the I factor. 

     And on the X factor, it's -- I believe it is true that Dr. Kaufmann probably would come up with a different set of numbers.  In our review of PEG's work in relationship to other consultants, they typically do come up with a different set of numerics.  They treat capital differently than some others do, and inevitably that leads them to a different bottom line. 

     So I like to think that the analysis we provided stands on its own legs.  We have presented it here.  We have provided those files to Dr. Kaufmann for his review, and we've described in great detail how we constructed that analysis in our report. 

     It is generally consistent with estimates we see from other consultants, and I think that the Board too should take a little bit of stock in the fact that although we know electric distributors are different from gas distributors, the number that we came up with, essentially zero percent, is very similar -- almost exactly so -- to the number that the Board used based on PEG's analysis for electric distributors and their productivity for an efficient utility in Ontario.  So it was basically the RRFE number.  I think that one should take some stock in that. 

     Dr. Kaufmann's company presented the BC report that we have talked about, and I think there was only about a 3 basis point difference between their electric distributor productivity and their gas distributor productivity.  

     So it wouldn't surprise me that those numbers would be quite similar, but we have only conducted the gas study.  We didn't conduct an electricity study on an apples-to-apples basis. 

     So I guess I would rest there, but I think that ours is the -- while Dr. Kaufmann might say that other evidence could be added to the record very simply at this point in time, I don't think -- I don't see how that would be possible without giving us the ability to scrutinize that analysis and to go through interrogatories.

It seems to me like that would almost be starting from ground zero, so I don't think that is a practical suggestion for the Board. 

     MS. CONBOY:  Thank you.  

     Okay.  Well, thank you very much, panel.  I think we will call it a day, because I believe, Mr. Thompson, you are going to go last; am I correct?

     MR. THOMPSON:  Yes, that was the game plan. 

     MS. CONBOY:  Okay.  So we will start off tomorrow.  We still have to hear from IGUA and VECC.  

     MS. SEBALJ:  Madam Chair, my understanding is that IGUA doesn't have any questions for this panel, but VECC does.  VECC does, as far as I know. 

     MS. CONBOY:  Okay.


MS. SEBALJ:  People are looking at me perplexed.  Does IGUA have questions?  I had thought that Mr. Mondrow had told me that he didn't.  Okay.  Thank you.  

     MS. CONBOY:  So we have VECC, CME and Enbridge yet to go.  So we will start off -- we will continue with this panel tomorrow morning. 

     Mr. Cass, I think it is safe to say that we will get to the next panel tomorrow, so if you could have your next panel ready, we can move to that seamlessly.


So we will adjourn today until 9:30 tomorrow morning.  Thank you.  


--- Whereupon the hearing adjourned at 4:18 p.m. 
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